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Abstract

In an overlapping generations model, this paper looks at the effects of behavioral
anomalies on human capital investments and skill distributions. In this model ed-
ucation is necessary but not sufficient to get a skilled job. There are three types of
agents: uneducated-unskilled, educated-unskilled, educated-skilled. Behavioral anoma-
lies are such that adults underestimate the probability of intergenerational mobility.
Uneducated-unskilled are imprisoned in a behavioral trap — they do not believe that an
educated child from their community would get a skilled work, so they never invest.
Educated parents suffer from a behavioral bias — skilled ones overestimate the chances
of their educated children getting a skilled job while unskilled ones underestimate. The
educated parents may over or under invest in comparison to the case where they have
correct beliefs. Behavioral trap almost always causes poverty trap and also gives rise
to multiple steady states, which can be ranked in terms of inequality. Depending on
the degree of behavioral bias of the educated parents, steady state inequality could
be lower or higher than that when they have correct beliefs. However, even in a less
unequal society the opportunity to earn higher income is limited to only a fraction of
population. Behavioral bias may lead to multiple equilibria and even induce (poorer)
educated-unskilled adults to invest with higher probability than (richer) skilled persons.
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1 Introduction

This paper studies the implications of behavioral constraints on human capital investment
and the resultant impacts on skill distribution and welfare of an economy. We provide an
explanation of how decisions based on own experience can give rise to poverty trap, affect
inequality, and distort incentives to invest in human capital.

Traditional literature has focused on capital market imperfections or technological in-
divisibilities (Banerjee and Newman (1993), Galor and Zeira (1993), Mookherjee and Ray
(2002a), more in Related Literature section) to explain persistent inequality and poverty trap.
While external constraints play an important role, internal constraints can also pull-down a
a segment of the society into a poverty trap. Recent literature (see Besley (2017), Genicot
and Ray (2017) for example) looks at behavioral aspects. The literature (see Bénabou and
Tirole (2016) for an overview) mostly focuses on beliefs that reinforce a positive self-image.
In our model, biases generate through socio-economic background and thus addresses both
positive, and negative self-image.

Let us consider women in politics in South Asian economies. By the late 1990s, South
Asian countries, such as India, Pakistan, and Bangladesh, had seen their first female Prime
Ministers. These women came from influential families and broke the political glass ceiling
in their respective countries. However, this major breakthrough has not converted into a
higher representation of women in the national Parliament, where a privileged background
is still an important criterion for women to win popular mandates. In contrast, men from
all walks of life have had considerable success in the field. Why do female politicians come
from a specific background while such restrictions are less so for male politicians? Apart
from social, cultural, and financial constraints, behavioral constraints also play a role. If
there are so few successful female politicians, especially from the underprivileged social
background, it does not inspire confidence in women to choose this career path. We such
behavioral constraints for women more starkly in careers such as STEM research (reference),
film direction (reference), or military forces (reference).

To this end, we construct an overlapping generations model where adults differ in terms
of their education, and jobs — skilled or unskilled. They derive utility from their own con-
sumption and the perceived expected income of their children. To capture the effect of
behavioral anomaly solely, we abstract from any bequest motive. Income of a skilled worker
is higher than that of an unskilled worker. But, costly education is necessary, though not
sufficient, for getting a skilled job — an uneducated individual works as an unskilled worker
with certainty whereas an educated person gets a skilled job with an exogenously given prob-
ability. This probability is the same for all children implying no intrinsic difference among
them. Based on their education and jobs, adults can be classified into three groups — not
educated and unskilled, educated and unskilled, educated and skilled. These groups are
endogenously formed and can change every period. Each adult decides whether to invest
in her child’s education or not. The expected benefit from that investment depends on the
perceived probability of her educated child becoming a skilled worker and the income that
she would earn as a skilled worker.

We say that the agents are biased when they form a belief about the probability of
success based on their socio-economic circumstance. In the model, parents underestimate
the probability with which an educated child from her group moves to another group. This



is because adults from socially distant groups identify less with each other. We capture
this through “degree of association”. Lower the degree of association, more biased is the
perceived probability of success. An unskilled worker underestimates the probability with
which a child from her group, upon getting education, becomes a skilled worker. Due to
higher social distance, a not educated and unskilled worker underestimates more than an
educated and unskilled worker. Conversely, an educated and skilled worker under estimates
the probability of her educated child becoming an unskilled worker. Alternatively, we may
say the vision of a not educated and unskilled worker is very tinted, education partially
clears it. Here, just as in classic Spence (1973), education has no intrinsic value, but we
may say education makes people more open to exploring economic opportunities. All agents
are non-Bayesian and there is no convergence of beliefs. However, given their beliefs, each
parent correctly calculates the equilibrium mass of skilled worker and their income.

We characterize the equilibria and analyze the dynamics and steady states of the economy.
An equilibrium specifies the probabilities of investment of each type of worker, such that
no one has any incentive to deviate unilaterally and their decision is consistent with their
beliefs. We study the implications of behavioral bias by comparing the results with the case
without such biases. The initial income of a skilled worker is the state variable. Investment
decisions crucially depend on the state variable, the degree of child affinity and the degree
of association characterize the equilibria, dynamics and the steady states. Before we discuss
the results, a word about the degree of child affinity is in order. It is the weight a parent
places on the utility from her child’s expected income relative to the utility from their own
consumption. The parameter is non-negative, time-independent, and common for all parents
in an economy. As noted in Boca et al. (2014) children may be valued more or less than
parents’ own consumptions, correspondingly the child affinity parameter may be a fraction
or greater than unity. (See Browning et al. (2014) pp. 106-120 for further discussion).

In the benchmark case where there is no behavioral anomaly, we find that whenever
unskilled workers invest with a positive probability all skilled workers invest with certainty:.
The reason is as follows. First, without any behavioral anomaly, the expected benefit from
investment is the same for all parents. Therefore, for a given degree of child affinity, the
optimal investment decisions differ only due to the difference in income. Second, the utility
cost of investment is lower for a skilled worker as her income is higher than that of an unskilled
worker and the utility function is assumed to be concave. Due to this, the equilibrium, at any
given degree of child affinity and initial skilled income, is unique. The optimal probability of
investment for all parents weakly increases with the state variable and higher child affinity.

We find that economic outcomes have distinct properties as per three child affinity ranges
— low, moderate, and high. At high child affinity all parents invest in their children’s ed-
ucation for all state variable. Everyone is educated in the economy. For moderate child
affinity, skilled parents, always, invest with a positive probability while unskilled parents in-
vest only when the state variable is high. In the steady state, all skilled workers invest with
certainty and unskilled workers invest with a positive probability. Finally, with low child
affinity, unskilled workers never invest in their children’s education. Over time, the economy
asymptotes to a s steady state where no parent invests in their children’s education. The
steady states can be ranked in terms of inequality, the difference between the income of
a skilled worker and that of an unskilled worker. Higher the skilled income, higher is the
income inequality in the economy. Thus, the steady state income inequality increases from



zero at low child affinity to a positive constant at high child affinity.

Poverty trap is defined to be a situation where there exists a positive mass of families that
never becomes rich. Alternatively, we say there is no poverty trap in an economy if at any
period the probability with which a family becomes rich, that is the adult member works as a
skilled worker is positive. We find, in the benchmark case, there is a poverty trap only when
the degree of child affinity is low. When it is not low, at the steady state, the probability
with which an adult from any family works as a skilled worker is positive. That probability
weakly decreases with decrease in the degree of child affinity — it remains constant when the
degree of child affinity is high and strictly decreases when that is moderate.

Behavioral anomaly significantly affects the economy. First, we consider when only not
educated workers are imprisoned in a behavioral trap — they do not believe that an educated
child from their group would ever be able to get a skilled job. This implies they never invest
in education. The educated parents take this into account while making their investment
decision. Like the benchmark case, the skilled workers invest with certainty whenever the
educated and unskilled workers invest with a positive probability. Thus, again, at any given
parametric condition, the equilibrium is unique.

We also find, the educated and unskilled workers invest with (weakly) higher probabilities
than in the benchmark case. Precisely, at any parametric condition where, in the benchmark
case, the unskilled workers invest with a non-degenerate probability and the mass of not
educated workers is positive, the educated and unskilled workers invest with a strictly higher
probability. The reason is as follows. The production function in the skilled sector is assumed
to be concave, hence, at any period income of a skilled worker is inversely related to the mass
of skilled workers at that period. Thus, non-investment of not educated workers increase the
benefit from investment which makes educated and unskilled workers invest with a higher
probability. The probability with which skilled workers invest, remain unchanged, as when
they invest with a probability less than 1, unskilled workers do not invest even without any
bias, so non-investment of not educated and unskilled workers does not have any effect.

The economic outcomes are same for the low child affinity case. For moderate and high
child affinity, there are now multiple steady states. This is because even when the income of
a skilled worker is very high which implies the mass of not educated workers is large, they
do not invest. The multiple steady states can be ranked on the basis of inequality. Higher
the steady state income of a skilled worker, higher is the steady state inequality. The steady
state inequality is at least as high as that in the benchmark case. They are equal at the ‘least
unequal steady state’. However, in behavioral trap, once a child does not get education, her
family never gets the opportunity to earn the higher income. In the benchmark case, that
opportunity is equal for all the families. Thus, due to behavioral trap some families lack
opportunities and are stuck in a poverty trap. We find, in contrast to the benchmark, even
when the child affinity is not low, there is almost always a poverty trap — when child affinity
is high, there is a poverty trap whenever the economy has some uneducated workers and
when the child affinity is moderate, there is always a poverty trap under behavioral trap.

Next, we analyze the case where educated workers are also biased and underestimate the
probability of intergenerational mobility. Not educated and unskilled workers, like before,
are in a behavioral trap, and thus, do not invest. The educated parents no longer have
the same expected benefit from educational investment as the skilled ones are overconfident
and the unskilled parents are underconfident. So, the skilled workers no longer invest with



certainty when educated and unskilled workers invest with a positive probability. There
could be multiple equilibria when the degree of child affinity is not low and the degree of
association with other group is lower than the proportion of skilled workers to educated-
unskilled workers. In all other cases, there is a unique equilibrium.

We compare the investment probabilities with those at the benchmark case. An educated
and unskilled worker underestimates the probability with which an educated child from her
community would become a skilled worker. This implies that she under estimates the mass
of skilled workers in the next period and over estimates their income. Thus, an educated
and unskilled worker may under or overestimate the benefit from investment which makes
her under or overinvest in comparison to the benchmark case. Similarly, for the skilled
worker. In fact, the over investment of educated and unskilled workers may crowd out the
investment of skilled workers. The unskilled and educated workers may even invest with a
higher probability than skilled workers.

Again, due to the non-investment of the not educated workers, there are multiple steady
states for moderate and high child affinity. Interestingly, when the degree of child affinity is
moderate, due to over investment, the steady state income inequality could be lower than
the benchmark case. However, even then the opportunity to earn higher income is limited to
the educated families — once a family becomes not educated, it never gets the opportunity to
earn higher income as a skilled worker. There is almost always a poverty trap in an economy.
We compare the mass of families in a poverty trap when all workers have some behavioral
anomaly vis-a-vis when only not educated and unskilled workers are in a behavioral trap — it
can be higher or lower depending on the over or under investment of the educated workers.

In summary, experience based beliefs on intergenerational mobility may lead to over or
under investment in human capital, and thus create a less or more unequal society. However,
even in a less unequal society, internal constraint imprisons certain individuals from partici-
pating in opportunities which may lead to earning higher income. Behavioral anomalies give
rise to poverty trap and affect income inequalities.

Section 2 discusses relation to existing literature. Section 3 sets up the general framework
of the model. Section 4 studies the benchmark case where there is no behavioral anomaly.
Section 5 addresses two types of behavioral anomaly — Subsection 5.1 analyzes the case where
only not educated workers are under behavioral trap whereas Subsection 5.2 addresses the
case where all types of workers are biased. Section 6 compares these cases and studies the
welfare implications of behavioral anomaly. Proofs are collected in respective Appendices 8.

2 Related Literature

This paper is related to various strands of literature. First, that behavioral anomalies shape
an individual’s decisions are backed by relatively new but a long list of papers. Bordalo et al.
(2016) discuss how stereotypes are used to form probability judgments. While stereotypes
ease the mental cost of decision making in an uncertain environment, they also bring in bi-
ases. For example, boys are better in math and science compared to girls (Strauss (2013)), or
that caste determines one’s natural aptitude and personality traits in India (Srinivasan et al.
(2016)). Even though stereotypes provide a kernel-of-truth, they are very context-dependent.
For example, in a randomized experiment, when Hoff and Pandey (2014) ask low- and high-



caste boys to solve mazes, their performance is similar when their castes are not revealed.
However, on revealing caste in mixed-caste groups, the low-caste boys under-perform. This
suggests that stereotypes can affect behavior in settings where it should not have any in-
fluence. Self-confidence depends on social background, gender, wealth. Deshpande and
Newman (2007) find that graduating students from reserved (backwards) category have sig-
nificantly lower occupational expectations than their non-reservation counterparts. On a
gender paradigm, Barber and Odean (2001) find men are overconfident and invest more.
However, Case and Shiller (2003) and Malmendier and Tate (2005), document that people
are, in general, overconfident. There are series of paper by Bénabou and Tirole (2002, 2004,
2006) which relate self-confidence with effort or investment decisions.

There is widespread evidence that different types of people are prone to biases in differ-
ent environment. For example, Carvalho et al. (2016) find that poor exhibit present-bias in
intertemporal monetary decision just before their paydays. Ramiah et al. (2016) find that
Australian corporate treasurers are prone to various behavioral biases (such as self-serving,
high confidence, loss aversion and anchoring biases). These behavioral biases affect work-
ing capital decisions and thus could have significant effect on the performance of the firm.
Benartzi and Thaler (2007) find that senior citizens follow heuristics to save for their re-
tirement. Their naivety and passive behavior may dictate capital flowing into sub-optimal
portfolios. The authors suggest low-cost interventions to rectify some of the adverse effects
of these biases on retirement savings.

Second, our paper is also related to the literature on aspiration. Appadurai (2004), Ray
(2006), Genicot and Ray (2017), Mookherjee et al. (2010) model aspiration as a target income
where parents derive utility if their child earns more than the target income. In our paper,
while there are no target incomes for children, but parents obtain utility from their children’s
expected incomes. In the behavioral model we find that when parents have sufficiently high
child affinity, educated-unskilled parents may invest with a higher probability than skilled
parents. In spite of their under confident beliefs, the educated-unskilled parents display
eagerness and ambition for their children.

The closest two papers are Dalton et al. (2016) and Besley (2017). In a simple static
model Dalton et al. (2016) show the interaction between aspirations and poverty. Given an
aspiration target, agents put in effort to maximize their wealth and hence utility. However,
there exists complementarities between initial wealth and effort which influences poor persons
to put in low effort which in turn leads to lower aspirations. This two-way relationship
between aspirations and effort provides a key policy implication that aspiration-enhancing
policies can enhance the effectiveness of policies that poverty alone. We also find that
behavioral trap encompasses several generations into a state of poverty.

Third, our paper discusses how does behavioral trap interact with a poverty trap. There
are several papers such as Loury (1981), Galor and Zeira (1993), Banerjee and Newman
(1993), Mookherjee and Ray (2002b), (2003) which explain inequality stemming from non-
convex costs or capital market imperfections. Historically, people have been treated differ-
ently on the basis of caste, religion, skin color. So, parents from such backgrounds may well
take that into account, and rationally choose to invest less. On the other hand, employers
may also not hire them rationally. This paper does not deal with these, instead, it addresses
only internal constraint.



3 Model

3.1 The Firms

We consider a single good economy comprised of a continuum of individuals of size 1. The
good can be produced using only one input — labor. Labor is of two types — skilled (Lg)
and unskilled (Ly;).! Let the production function of the skilled sector be AL?,, where 0 <
¢ <1, and A > 1 — the production function is strictly increasing and strictly concave. The
production function of the unskilled sector is L,;. At any period ¢, the profit functions of
representative firms of the skilled and unskilled sectors, 7y and m,;, are given by:

_ ¢ _
st = ALst - wsthta and Tt = Lut - wutLut

where w;; denotes the wage rate of a worker of type j, j = {s,u}. Solving the profit
maximization problems we get

we = ALY my=(1—@)ALY,  and wy = 1. (1)

The profit of the skilled sector is divided among the skilled workers. So, the income of a
skilled worker is my = wg + g/ Lg = ALQ(I_@ and that of an unskilled worker is m,; = 1.

Observation 1. A skilled worker earns (weakly) more than an unskilled worker.

We show this in Appendix A.1.
A skilled worker earns strictly more than an unskilled worker whenever A > 1 or the mass
of unskilled workers is positive.?

3.2 The Households

In a discrete time framework, we build an overlapping generations model with no population
growth. An individual lives for two periods: first as a child and later as an adult. Adults share
a common degree of child affinity, 6 — higher ¢ captures higher child affinity. A representative
household consists of an adult and a child. The adult works, earns income, consumes, and,
depending on her degree of child affinity, decides whether to invest in her child’s education.?
Investment in education requires a fixed cost denoted by s, where § € (0,1). Education is
necessary but not sufficient for becoming a skilled worker — an educated individual, denoted
by e, becomes a skilled worker with probability § whereas a not educated person, denoted by
n, becomes an unskilled worker with certainty: Pr(L; = Lyle) = 8 and Pr(L; = Lg|n) = 0.

An adult derives utility from her own consumption and from her child’s expected income
earned in the next period. The utility of an adult of type ij where ¢ denotes her education

n all notations, subscripts s and u designate skilled and unskilled workers, and subscript ¢ denotes time.

2Since, B < 1, the mass of unskilled workers could be zero only at ¢t = 0, when the economy starts with all
skilled workers. Even in such an economy, from ¢t = 1 onwards, the income of a skilled worker would be
higher than that of an unskilled worker, with certainty.

3For simplicity, we assume that an individual consumes only in her adulthood.



i € {e,n} and j denotes her skill j € {s,u} is

i\ L )’
Uy (ct,Eth): (Ctg) +5( w;H) , 0<0

cf;j denotes her consumption, and Ewiil denotes the expected income of her child. Observe,
the utility function is strictly increasing and strictly concave.

The investment decision on child’s education is made based on the perceived expected
income of an educated child. It depends on the probability of her becoming a skilled worker
upon getting education and the income she earns as a skilled worker which further depends
on the mass of the skilled workers at that time. A parent forms beliefs about this probability
and based on that belief, the parent calculates the mass of skilled workers and their income
in the next period. A parent’s belief depends on her own experience.

In our model, there is no inherent difference in the probability of getting a skilled job
across educated children of different parent types. These odds are the same for all educated
children, i.e., this probability is independent of her parent’s type (education and income).
So, any type dependent belief captures the agent’s cognitive limitation. This is the only
behavioral anomaly we focus on. The agent otherwise is rational. Given her belief about
the probability of her child becoming a skilled worker, she accurately calculates the mass of
skilled workers in the next period and makes the investment decision accordingly.

Let us introduce some more notations. Let pﬁl be the probability with which a parent of
type 7j believes that her educated child will become a skilled worker at ¢t+1. Given her belief,
a parent calculates the mass of skilled worker at ¢ + 1. To differentiate it from the actual
mass of skilled worker at ¢t + 1, we say that a parent of type ij conjectures that the mass of
skilled worker would be LY | and their income wy_ ;. Thus, the perceived expected income
of her educated child would be Ewy), = p/ ,w%. | +(1- PP W =Pl w1
The expected income of an uneducated child is Ewt =L

At any period t, a parent compares perceived expected utility from investing in her child’s
education with that from not investing and invests only when the former is (weakly) higher

U/ (from investing in child’s education) > U (from not investing in child’s education)

N (it — 5)° " 5[17111“;11 + (1 =pl)l° > mg n 0
o o o o
- 5 [Pt+1wst+1 + (1 - pii—l)]a B l > m_ﬁ _ (i — 5)0' (2)
o o o o

The left hand side of the above inequality is the perceived expected net benefit from investing
in child’s education whereas the right hand side is the utility cost of making that investment.

Observe, if § were zero then all types of parents would have invested in their children’s
education irrespective of their beliefs and incomes. Alternatively, if § were greater than 1,
then no unskilled parent could have afforded to educate her child. The assumption s € (0, 1)
rules out these two uninteresting cases.

We characterize the equilibria and analyze the dynamics of an economy. An equilibrium,
in our model, has two features:



(a) Parents calculate the expected return from investment which must be consistent with
their beliefs.

(b) No parent has an incentive to deviate unilaterally.

Next, we start our analyses with a benchmark case — the parents do not have any be-
havioral anomaly, they believe that the probability with which an educated child becomes a
skilled worker is 3.

4 Benchmark Case

A worker of any type 77, believes that the probability of an educated child becoming a skilled
worker is [, i.e. prH = [ Vi,7. In absence of any behavioral differences between parents,
their optimal decisions differ only due to differences in their incomes.

Let, at any period ¢, the probability with which a worker of type j invests in her child’s
education be A;;. So, at period ¢t +1 , the mass of skilled worker and their income® would be

Lst+1 = 5[)\stht + )\utLut]7 and Mst+1 = A [5[)\stht + )\utLutH _(1_¢)-

At t, a worker of type j invests in her child’s education with probability Aj; if and only if

[B° ALt + MatLua) O 41— B 1) mf (87 (3)

o ol o o

where L,;, = 1 — Ly and the inequality binds for jth type when A;; € (0,1).

An equilibrium is denoted by (A, As;) which satisfies the features described in Subsection
3.2. Observe, here the equilibrium concept is Nash Equilibrium. Comparing the investment
decisions of the skilled and unskilled workers, we find:

Lemma 1. Consider any equilibrium (Ay, Ast)

(a) if an unskilled worker invests in her child’s education with positive probability (A > 0),
then a skilled worker invests in her child’s education with certainty (As = 1),

(b) at any period t, the probability of investment of both types of workers (weakly) increase
with increase in income of a skilled worker at that period.

We show this in Appendix A.2.

Intuitively, Part (a) is an immediate implication of our assumption of concave utility
function. Due to this assumption, the utility cost of investment decreases with income of
a worker. The benefit from investment is the same for all the parents. Hence, whenever
an unskilled worker invests, a skilled worker with higher income (see Observation 1) invests
with certainty.

For Part (b), we refer to equation (3). When income of skilled workers increase (i) the
utility cost of investment for the skilled workers decreases whereas that of unskilled workers

1Observe here, in this benchmark case, w' 41 = Mgl

8



remains the same, and (ii) the benefit from investment increases. While the reason for the
former is the concavity of utility function, the intuition behind the latter is a bit subtle. The
benefit from investment at any period ¢, increases with the probability of becoming a skilled
worker, upon getting education and the income of a skilled worker at period £+ 1. Now, the
probability of becoming a skilled worker, upon getting education is a constant. We argue
that the income of skilled workers of two consecutive periods are positively (non-negatively)
related, keeping investment decisions the same. Therefore, the benefit from investment, at
any period ¢, increases with the income of the skilled workers of that period.

To see this positive relationship between the income of skilled workers of two consecutive
periods, keeping investment decisions the same. Consider, two economies with two different
income of skilled workers m!, and m?2, with m!, > m?, where investment decisions are the
same, i.e. AL, = A%, = Ay and A\, = A2, = \,;. Then, we argue that ml,,, is greater than
m?2.,,. For that, first observe, income of the skilled workers is inversely related to the mass
of skilled workers. So, the mass of skilled worker in Economy 1 is lower. Second, Part (a) of
this observation tells us that Ay > Ay, in fact, Ay = 1, whenever \,; > 0. So, in Economy
2 higher mass of workers invest with higher probability (Ay rather than A,;). Therefore, at
t + 1, the mass of skilled workers would be lower in Economy 1 which implies m},,,; would
be higher than m?,_,. Hence, the positive relationship.

The implications of the lemma are as follows. Part (a) implies that there can be five equi-
libria (A, Ast) — three pure strategies and two mixed strategies. The pure strategy equilibria
are: (i) both skilled and unskilled workers invest with certainty (1, 1), (ii) unskilled workers
do not invest while skilled workers invest with certainty (0, 1), (iii) no worker invests (0, 0).
The mixed strategy equilibria are (iv) unskilled workers invest with positive probability and
skilled workers invest with certainty (0 < A, < 1,1), (v) unskilled workers do not invest
while skilled workers invest with positive probability (0,0 < Ay < 1). Part (b) implies that
the income of a skilled worker at any period is the state variable of that period.

The degree of child affinity’ plays an important role in parent’s investment decision.
Next, we define three thresholds of child affinity which will be useful in further analyses.

Definition 1. The degree of child affinity is

(Z) ‘high’ when & > 5’ where § = (1 —s) -1

T
(i) ‘moderate’ when & € [3,6), where § = (1 —35)° — 1, or
(111) ‘low” when 6 < 0.

Observation 2. 0 < § < 6.

Appendix A.3 proves the ranking.

Consider any equilibrium (A, A\s). Given Lemma 1, we know when A, > 0, then
Ast = 1. Based on this, for a given degree of child affinity, we define three thresholds of the
state variable. We will find these thresholds helpful in further analyses.

SFor brevity, we use child affinity and degree of child affinity interchangeably.



Definition 2. Let (A, Ag) be an equilibrium at the state variable mg. For a given degree
of child affinity

(i) b,(0) is the maximum value of the state variable, at which the skilled workers do not
invest, i.e. A > 0 if and only if mg > b,(9).

(i) bs(6) is the minimum value of the state variable, at which skilled workers invest with
certainty, i.e. Ay = 1 if and only if mg > bs(0).

(#ii) b,(0) is the maximum value of the state variable, at which unskilled workers do not
invest, i.e. Ay = 0 if and only if mg < b,(9).

We provide the formal expressions of these thresholds of the state variable in Appendix A .4.

Observe from Lemma 1 and equation (3), at b,(9), there is a unique equilibrium (A, Ast)
where A,y = 0 and A\, = 1. Similarly, at the unique equilibrium at by(d), Ay = 0 and
Ast = 1. And finally, at the unique equilibrium at b,(6), Ay = 0 and Ay = 0. We cumulate
the ranking and other features of these thresholds in the following lemma.

Lemma 2. Properties of the thresholds of the state variable
(i) by(8) < bs(8) < by, (9).
(ii) b,(5), bs(d) and b,(0) are decreasing in .

(iii) Suppose, the degree of child affinity is

(a) high, then b,(0) < by(8) < b,(0) < 1,
(b) moderate, then b,(6) <1 < by(8) <b
(¢) low, then b,(d) = co and 1 < b,(9) <

(6,
< bs(8) < b,(9).
We prove this lemma in Appendix A.5.

Intuitively, as the parents become more child loving, the benefit from investment in-
creases. At the thresholds, the parents are indifferent, to make them that, thus, the thresh-
olds have to adjust accordingly. As observed earlier, the benefit from investment increases
with the state variable. And, with increase in the state variable, the utility cost of investment
decreases for the skilled workers and remains constant for the unskilled workers. Hence, the
thresholds of state variable must decrease with increase in the degree of child affinity, such
that the parents remain indifferent. The ranking of the thresholds, directly follows from
Lemma 1. At b,(9), unskilled workers are indifferent between investing and not investing.
So from Part (a) of that lemma, we know that the skilled workers must invest with certainty
at that threshold. The skilled workers invest with certainty as long as m is no less than
bs(9). Thus, from Part (b) of that lemma, b,(d) is greater than by(5). As my, falls below
that threshold, again, from Part (b) of that lemma, we know that skilled workers no longer
invest with certainty. They invest with a positive probability as long as mg is no less than
b,(8). Hence, b (6) is lower than by(d).

Given the parameters 9, 0, 5, 5, and the state variable mg; of an economy, we characterize
the equilibria of this benchmark case.
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Proposition 1. Characterization of the Equilibria

1. Suppose the degree of child affinity is high. There is a unique equilibrium (Au, Ast)
where all parents invest with certainty Ay = A = 1.

2. Suppose the degree of child affinity is moderate. The unique equilibrium is such that
(a) when the state variable is higher than b, (9), then the unskilled workers invest with

a positive probability at which (3) binds and skilled workers invest with certainty,

(b) when the state variable is no higher than b,(8) and no less than by(5), then the
unskilled workers do not invest and the skilled workers invest with certainty,

(c) when the state variable is less than by(0), then the unskilled workers do not invest
and the skilled workers invest with a positive probability at which (3) binds.
3. If and only if the degree of child affinity is low, there is a unique equilibrium such that
(a) when the state variable is no less than by(5), then the unskilled workers do not
wnvest and the skilled workers invest with certainty,

(b) when the state variable is less than by(8) and higher than b,(8), then no unskilled
worker invests and the skilled workers invest with a probability at which (3) binds,

(c) when the state variable is no less than b,(d) then no worker invests.

{Aut, Ast) (Aut, A
(0,1) if my > by(6) ((0,1),1) if my > b,(9)
| Es
(0

<0> (07 1)> lf Mt S (bs(6)>65(5)) lf Mt S [65(5)7bu(5)] <)‘ut7/\st> — <17 1> vmst 2 1

(0,0) otherwise. otherwise.
0 ]
) §
~ ~ e ~ ~ 7 ~ ~ g
Low Moderate High

Figure 1: Characterization of the Equilibria in the Benchmark Case

We prove this in Appendix A.6 and depict the equilibria in Figure 1.

The intuition behind this proposition is, now, immediate. When the degree of child
affinity is high, the parents care for their children so much that they invest at all relevant
range of the state variable. When the degree of child affinity is moderate, the unskilled
workers no longer invest with certainty and the probability of investment decreases with
decrease in the state variable. If the state variable falls below b,(d), then the unskilled
workers do not invest at all. As discussed above, b, (d) is negatively related to the parent’s
degree of child affinity. It becomes infinite when the degree of child affinity is low — an
unskilled worker with low degree of child affinity never invests. The corresponding intuition
for a skilled worker is similar. Only the thresholds are different as income of a skilled worker
is higher which makes her utility cost of investment lower.
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Next, we analyze the dynamics and steady state of an economy. We say there is a poverty
trap if there exists a positive mass of families that never become rich, which in our model
corresponds to the adult working as a skilled worker. Alternatively, there is no poverty trap
if the probability with which any family becomes rich at any particular period is positive.

Proposition 2. Dynamics and Steady States
1. When the degree of child affinity is not low, there is no poverty trap in the economy.

(a) When child affinity is high, the economy immediately reaches the steady state — all
parents invest, the mass of skilled worker is B and the income of a skilled worker
is AB~=9) At any period, the probability with which a family becomes rich is 3.

(b) When the degree of child affinity is moderate, if the mass of skilled worker is

1
higher than (8 (bu(é)/A) 1=¢ then it decreases over time. At the steady state, the
unskilled workers invest with a positive probability and the skilled workers invest

with certainty. The mass of skilled worker is 5 (Qu(é)/A)_ﬁ and the income of
a skilled worker is 6_(1_¢)Qu(5). At any period, the probability with which a family
becomes rich is lower than [ and it decreases with decrease in child affinity.

(¢) The inequality at the steady state (weakly) increases with a decrease in child affin-
ity — it remains constant when child affinity is high and strictly increases when it
is (moderate).

2. When child affinity is low, if the state variable is

(a) higher than b,(9), then the mass of skilled workers decreases over time and con-
verges to zero, correspondingly their income converges to infinity.

(b) no higher than b,(9), then the economy immediately enters into a steady state
where all workers are unskilled and no parent invests. At the steady state, all
families are in a poverty trap and there is no inequality.

We prove this in Appendix A.7.

When the degree of child affinity is high, all types of workers invest with certainty. Thus,
the economy immediately reaches the steady state where all children are educated. At any
period, a family becomes rich, i.e. the adult works as a skilled worker with probability 3. So,
there is no poverty trap. Since all parents invest with certainty at any § > 6, the inequality
at the steady state — the difference between the income of a skilled worker and that of an
unskilled worker — remains constant with the decrease in the degree of child affinity.

When the degree of child affinity is moderate, the unskilled workers no longer invest with
certainty. When the initial mass of skilled worker is low such that the state variable is higher
than b,(9), then the expected benefit from investment is sufficiently large, and the unskilled
workers invest with a positive probability. The economy immediately enters into the steady
state. When the initial mass of skilled worker is not low such that the state variable is no
higher than b,(0)), then the expected benefit from investment is small. Here no unskilled
worker invests and the skilled workers invest with a positive probability. Hence, the mass of
skilled worker decreases and consequently, their income increases over time. This happens
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as long as the income becomes no less than b, (). The economy, then, enters into the steady
state where all unskilled workers invest with a positive probability (and the skilled workers
invest with probability 1). So, at any period, the probability with which a family becomes
rich is positive. However, that probability is less than 8 because unskilled workers invest with
probability less than 1 and at any period, the probability that the adult of a family works as
an unskilled worker is positive. The steady state probability with which an unskilled worker
invests decreases with decrease in the degree of child affinity. So, the probability with which
a certain family becomes rich at a particular period decreases with child affinity.

The intuition behind the increase in inequality at the steady state with decrease in the
degree of child affinity is quite obvious. Given the state variable, higher child affinity implies
greater probability of investment which lowers future skilled incomes. Hence, within the
range of moderate child affinity, the steady state inequality is decreasing in the child affinity
parameter.

When child affinity is low, unskilled workers never invest. While the skilled workers invest
but only a 8 fraction of their children are skilled workers in the next period, thus, the mass
of skilled workers asymptotes to zero. In the steady state, everyone is unskilled, so there is
no inequality.

Next, we address the main focus of this paper — the case where the parents are biased.

5 Behavioral Anomaly

The parents underestimate the probability of intergenerational mobility. While forming the
beliefs about the probability of her child becoming a skilled worker, upon getting education, a
parent looks through the lens of her education and job network. She discounts the possibility
of her child becoming a worker of a different type than herself. We capture this through
“degree of association”. Adults of each network, in an economy, are characterized by their
common degree of association with other network — the extent by which they relate to or feel
connected with other networks. The degree of association via education network is captured
by 1 and that via job network by 6. So, the degree of association of a Not Educated ¢ worker
with a Skilled worker is nf. The degree of association of an educated worker with a worker
from the job network different from hers is 8. We assume that the degree of association
decreases with social distance. Since education is necessary to become a skilled worker, Not
Educated workers are the furthest from the Educated & Skilled workers — they neither belong
to their education network nor to their job network. So, 0,6 € [0,1].”

5.1 Bias via Education: Behavioral Trap

We start our analysis with the case where only not educated parents are biased, they do not
believe that an educated child from their network would ever get a skilled job, i.e. n = 0.

6A word about notation: workers can be of three types — Not Educated & Unskilled, Educated & Un-
skilled and Educated & Skilled. Here, we need to denote unskilled workers — not educated and educated
— differently, as they choose differently. For the brevity, we denote the former as Not Educated because
without education it is not possible to get a skilled job and the latter as Educated & Unskilled. Similarly,
as education is necessary for a skilled job, Educated & Skilled workers is denoted by Skilled workers.
"Observe, in the benchmark case, n = 0 = 1.
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We may say lack of education imprisons not educated parents in a behavioral trap. The
educated parents do not have any bias — they believe that the probability with which an
educated child becomes a skilled worker is 3, the true probability. In the next section, we
relax this assumption and analyze the case where educated parents are also biased. A parent
invests only when that provides her (weakly) higher utility than that from not investing. The
immediate implication of 1 being zero is

Observation 3. In presence of a behavioral trap due to lack of education, Not Educated
workers never invest.

The educated workers take this into account and invest. Let the probability with which an
Educated & Unskilled worker invests at period t be p,;® and that for a Skilled worker be p,;.
At period t, a worker of type j invests in child’s education with probability pj; if and only if

5 | LBPAPu(L = ANt puBNal OO £ 1 =87 1)y (=

o o o o

recall N, is the mass of educated workers, (1— )N is that of Educated & Unskilled workers
and SN, is that of Skilled workers. The inequality binds for j™ type when pit € (0,1).

An equilibrium is denoted by (pu:, pst) which satisfies the features described in Subsection
3.2. Like in the benchmark case, we have the following

Observation 4. Consider any equilibrium {py, pst)

(i) if Educated & Unskilled workers invest with a positive probability (p, > 0), then all
Skilled workers invest with certainty (ps = 1),

(i) income of a Skilled worker is the state variable.

The proof is very similar to that of Lemma 1, so we skip it here.
Due to the existence of the behavioral trap, there does not exist any degree of child affinity
where all parents invest. We define the following new threshold of the state variable.

Definition 3. Let (put, pst) be an equilibrium at the state variable mg. For a given degree
of child affinity, b,(0) is the minimum value of the state variable (my) at period t, at which
Educated & Unskilled workers invest with certainty, i.e. py = 1 if and only if mg > b,(0).

We provide the formal expression of this threshold of the state variable in Appendix B.1.

This new threshold along with the thresholds defined in Definition 2 are used for further
analyses. Those thresholds are relevant here, as at those thresholds, unskilled workers do
not invest — they invest only when the state variable is higher than b, (d) which is the highest
among them. So the difference due to the non-investment of Not Educated workers under
behavioral trap does not affect those thresholds and hence, are valid here. The observation
below documents some features of this new threshold and its ranking among other thresholds.

Observation 5. (i) b,(0) is decreasing in 6.

8Here, unlike the benchmark case, subscript u denotes Educated & Unskilled. Not Educated workers never
invest, so this is for the brevity of notation.
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(ii) b,(0) = AB~=9) when the degree of child affinity is moderate bu(6) = B~1=9p, (6)
and when the degree of child affinity is low, then b,(d) = co.

We prove this observation in Appendix B.2.

Given the parameters 9, 0, 5, 3,7 and state variable mg of an economy, we characterize the
equilibria in the following proposition.

Proposition 3. Characterization of the Equilibria
1. The Not Educated workers never invest.

2. Suppose the degree of child affinity is high, then at the unique equilibrium all educated
workers invest with certainty.

3. Suppose the degree of child affinity is moderate. The unique equilibrium is such that
when the state variable is

(a) no less than b,(8), then all educated workers invest with probability 1,

(b) lower than b,(8) and higher than b, (), then Educated & Unskilled workers invest
with a probability at which (4) binds and the Skilled workers invest with certainty,

(¢) no higher than b,(5) and no less than b,(9), then Educated & Unskilled workers
do not invest and the Skilled workers invest with probability 1,

(d) no less than b, (), then Educated & Unskilled workers do not invest and the Skilled
workers invest with a probability at which (4) binds.
4. Suppose child affinity is low, unique equilibrium is such that when the state variable is
(a) no less than by(0), then unskilled workers do not invest and skilled workers invest
with certainty,

(b) less than by(8) and higher than b,(5), then unskilled workers do not invest and
skilled workers invest with a positive probability at which (4) binds,

(¢) no less than b,(0) then no worker invests.

Not Educated workers never invest
<l0uta pst>

{(0, 1) if Mg > by(6)

(1 if mg > b,(9)
_ )«
(0,(0,1)) if my € (b,(0),bs(9)) {puts Pt} = (0
©

1),1) i mg(by (8),0,(8)) | (Puts pst)

)

1
- ) if m[bs(9), b,(9) | =(L,1)
0

(0,0) otherwise. , 1)) otherwise.
0 é
) )
Low Moderate High

Figure 2: Characterization of the Equilibria with a Behavioral Trap
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We prove this in Appendix B.3 and depict the equilibria in Figure 4.

A word about why we are getting p,, = 1 when the degree of child affinity is moderate,
though in the benchmark case, \,; is always less than 1. The reason is very simple. First
note that b,(d) > b,(d), so the state variable for which ~,; = 1, A,; > 0. Hence, when the
mass of Not Educated workers is positive, they were investing in the benchmark case and
not under the behavioral trap. This, in general, makes 7,; > A,; whenever A\, € (0,1) and
the mass of Not Educated workers is positive: From Equations (3), (4), Observation 2 and
5 we have

)\utLut + Lst = f)/ut(l - B)Net + BNet = )\ut [1 - Net] == (qut - )\ut) (1 - B)Net

N—— S———
Not Educated Educated & Unskilled

Hence, when there is a behavioral trap and v, € (0,1), the non investment of the Not
Educated workers is exactly compensated by the over investment of Educated & Unskilled
workers, such that in both the cases the mass of skilled workers in the next period and hence,
the benefits from investment remain the same as the cost of investment of an unskilled worker
is the same in both the cases. Now, it is clear from the definition that at b, (d) we must have

Xo(1 = Noi) = (1= A)(1— B)N.

where recall A} is the probability with which unskilled workers invest at the steady state in
the benchmark case such that the mass of educated workers remain constant over time. Here,
also observe that happens when v,; = 1. This implies at each §, there is a unique value of N;
corresponding to I_yu(é). If N is higher than that value then Educated & Unskilled workers
would not invest with probability 1, and if that is lower than that value, then the benefit
from investment of an unskilled worker would be strictly higher than her cost of investment.
Yet, due to the behavioral trap, Not Educated workers would not invest, and that gives rise
to multiple steady states. An economy converges to one of those depending on the mass
of Not Educated workers. The steady states can be ranked according to inequality — the
difference between the income of a skilled worker and that of an unskilled worker. When
the degree of child affinity is high, the steady state where m* = b,(8), recall, which is equal
to A3~ is called the ‘least unequal steady state’. When child affinity is moderate, the
steady state where m* = b,(d) we call that the ‘least unequal steady state’.

Proposition 4. Dynamics and Steady States

1. There is almost always a poverty trap in an economy — there is no poverty trap in an
economy only when the economy starts with all educated parents, and 6 > 6.

2. When the degree of child affinity is not low there are multiple steady states.

(a) When the degree of child affinity is high any m; > 1 is a steady state. The
economy immediately reaches a steady state, the mass of each type of workers
remains constant at the level with which the economy starts.

(b) When child affinity is moderate, if mg > by(8), then all educated workers invest
with certainty. The mass of educated individuals and that of skilled workers remain

16



constant over time. The income of a skilled worker remains constant at mg = m;,.

(c) When the degree of child affinity is moderate, if my < by(8), at least one type
of workers do not invest with certainty. The mass of educated individuals and
the mass of skilled workers decrease over time. The income of a skilled worker
increases over time and converges to some mgy = m’ > by (9).

(d) The multiple steady states can be ranked on the basis of inequality — higher the m;
higher is the inequality.

(e) The inequality at the least unequal steady state (weakly) increases with decrease in
the degree of child affinity — it remains constant when the degree of child affinity
1s high and it strictly increases when the degree of child affinity is moderate.

3. When the degree of child affinity is low.

(a) If mg > b,(5), then the mass of skilled workers decreases over time and converges
to zero, and correspondingly the income of a skilled worker converges to infinity.

(b) If mg < b,(0), the economy immediately reaches a steady state where all workers
are unskilled.

(c) There is no inequality at the steady state.

We prove this in Appendix B.4.

Interestingly, observe with a behavioral trap, as Not Educated workers never invest, it is not
possible to have mixed strategies being played in any steady state. As that would decrease
the mass of educated workers, hence the mass of Skilled workers in the next period, and that
cannot be a steady state. For a similar reason, with a behavioral trap, we have multiple
steady states — even if there are a few educated families in an economy which makes the
mass of skilled workers small and their income large, due to their behavioral imprisonment,
Not Educated workers do not invest and the economy stays there forever.

We discuss more about the implications of behavioral trap in Section 6. Next, we discuss
the case where the educated parents are also biased.

5.2 Bias via Education and Job Network: Behavioral Trap & Be-
havioral Bias

All parents, here, are biased. Recall, the degree of association via job network is captured
by @, here 6 € (0,1). An Educated & Unskilled worker believes the probability with which
an educated child from her community becomes a skilled worker is 83. A Skilled worker
believes that an educated child from her own network will become an unskilled worker with
probability 6(1 — /3). So, she believes the probability that such a child will become a skilled
worker is 1 — 6(1 — ). Like before a Not Educated worker believes that a child from her
own network, upon getting education, will become a skilled worker with probability n8g3,
and we continue to assume 7 to be zero. Hence, the Not Educated workers do not invest
here also. As 6 < 1, Educated & Unskilled workers are under confident and Skilled workers
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are over confident.” This captures the behavioral anomaly — parents’ experiences color their
perceptions about their children. We assume, that while calculating the probability with
which an educated child from a different network becomes a skilled worker, an individual
can see clearly. An unskilled (skilled) worker, correctly, believes that an educated child of a
skilled (unskilled) worker becomes a skilled worker with probability f.

Since a parent’s belief about the probability of success — becoming a skilled worker upon
getting education — of a child from her own network is type dependent, the ‘conjectured’
mass of skilled workers and their income in the next period would also be type dependent. To
characterize the investment decision of each types of parents, we now discuss the conjectured
expected benefit from investment. Suppose, at period ¢, a worker of type j, where j €
{u, s}, invests with probability vjt- Then an Educated & Unskilled worker conjectures
that the mass of skilled workers and their income at period ¢ + 1 would be

LZt.H = 95 : 'Vut(l - ﬁ)Net + ﬁ : ’YstﬁNeta and wgﬂ-l = A[eﬁ . ’}/ut(l - ﬁ)Net]_1_¢~

where, recall, N,; denotes the mass of educated individuals at period ¢, hence, (1 — )N, is
the mass of Educated & Unskilled workers who invest with probability ~,; and SN, is the
mass of skilled workers who invest with probability 7.

Thus, the conjectured benefit from investment of an Educated & Unskilled worker is

0p - [A[Gﬁ Aut(1 = BNt 770 +1 =08 = 0807 (1 = B) + Brat) ™ Pma +1-68.

Similarly, a Skilled worker conjectures that the mass of skilled workers and their income at
period t 4+ 1 would be

s s s— (-
w1 = B Yut(1 = B)Neg + [1 = 0(1 — B)] - vaSNer  and Wept1 = ALst—‘rll v

And, the conjectured benefit from investment of a Skilled worker is

1= 01— B)] - [yull = B)+ [1 = 01 = B)ya] "y + 6(1 — B).

Observe, here the “conjectured” benefits of the two types of workers cannot be ranked. This
is because the under (over) confident Educated & Unskilled (Skilled) workers under (over)
estimates the mass of future skilled workers and hence, over (under) estimates their income.

At any period ¢, an Educated & Unskilled worker invests in her child’s education with
probability v, if and only if

oo (081071 = B) + B my +1—605]°
(1(78)”[[7( ) 70] m |
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99 < B <1—0(1—p).

0Here also, we use subscript u for Educated & Unskilled workers and subscript s for the Skilled workers.
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The L.H.S. is the conjectured net benefit and the R.H.S. is the net utility cost from in-
vestment. Similarly, at any period ¢, a Skilled worker invests in her child’s education with
probability v, if and only if

o

s 1= 01— B)]- [ru(1 = B) + [1 = 01 = B)ysr] " Py +0(1 - 5) )
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We observed that the utility cost of investment is lower for a Skilled worker. But, as their
conjectured net benefit from investment cannot be ranked, we find that Part (a) of Lemma 1
is not true anymore — an Educated & Unskilled worker may invest with a positive probability,
even when Skilled workers do not invest with certainty. However, we find

Lemma 3. At any equilibrium, if Educated & Unskilled workers invest, then Skilled workers
invest with positive probability: suppose (Yui, Vst) 18 an equilibrium, and vy > 0 then v > 0.

We prove this in Appendix C.1.

Intuitively, we observe that when no Skilled workers invest and Educated & Unskilled work-
ers invest then the conjectured benefit of a Skilled worker is higher than that of an Educated
& Unskilled worker. And, we have already observed that the utility cost of a Skilled worker
is lower due to the concavity of utility function. Hence, the lemma.

We, now, define an additional threshold of degree of child affinity for further analyses.
Definition 4. The degree of child affinity is huge when 6 > d,, where

(1-5)9°7—-1

% = 1—[08(0(1—p)+B)~0=2 +1—-6p]"

0, along with ¢ as in Definition 1 characterize the equilibria, here. The ranking is follows.
Observation 6. 0 < § < 9,.

Appendix C.2 proves this.
The degree of child affinity is moderately high when § < <, and recall low when § < 4.

The next observation follows directly from the optimal investment decisions of Educated &
Unskilled workers captured in (5) and that of Skilled workers stated in (6).

Observation 7. Suppose at any mg, when workers of type k invest with probability vx, the
workers of type j optimally invest with probability ~v,., where k,j = {u, s} and k # j. Then
at any mg > mg, when workers of type k invest with probability no higher than ~, the
workers of type 7 optimally invest with probability no less than ;.
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Now, we introduce various thresholds of the state variable my;. The first threshold, like in
the benchmark case, characterizes an equilibrium. The rest of the thresholds address optimal
decisions — second, third and the fourth are thresholds dealing with the optimal decisions
of the Skilled workers if they believe that the Educated & Unskilled workers choose the
mentioned v,;. Note that there may not exist any equilibrium at such a threshold where
the mentioned (7, 7s) i an equilibrium or there may exist many other equilibria at that
threshold. The last three thresholds are similarly for the optimal decisions of the Educated
& Unskilled workers if they believe that the Skilled workers choose the mentioned ~;.

Definition 5. For a given degree of child affinity,

(1) suppose (Yui,Vst) is an equilibrium. a (d) is the mazimum value of the state variable at
which the Skilled workers do not invest, i.e.

vt =0 if and only if mg < a (9).

(11) suppose the Educated & Unskilled workers do not invest, then ag(d) is the minimum
value of the state variable at which Skilled workers invest with certainty, i.e.

suppose vy = 0, then, v =1 if and only if mg > ag(9),

(111) suppose the Educated & Unskilled workers invest with probability 1, then as(0) is the
mazimum value of the state variable at which Skilled workers do not invest, i.e.

suppose vy = 1, then, vs > 0 if and only if mg > a4(9),

(iv) suppose the Educated & Unskilled workers invest with probability 1, then az () is the
minimum value of the state variable at which Skilled workers invest with certainty, i.e.

suppose Yy = 1, then, v =1 if and only if mg > as(9),

(v) suppose the Skilled workers invest with probability 1, then ag(0) is the mazimum value
of the state variable at which Educated & Unskilled workers do not invest, i.e.

Suppose v = 1, then, v >0 if and only if mg > as(0),

(vi) suppose the Skilled workers do not invest, then ag(d) is the minimum value of the state
variable at which Educated & Unskilled workers invest with certainty, i.e.

Suppose ys = 0,  then, v = 1 if and only if mg > a3(0),

(vii) suppose the Skilled workers invest with probability 1, then az(0) is the minimum value
of the state variable at which Fducated & Unskilled workers invest with certainty, i.e.

Suppose v = 1, then, vy = 1 if and only if mg > a1(0),
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The formal expressions for these thresholds are given in Appendix C.3.
For further analyses, in the following lemma, we collect important features of the thresholds.

Lemma 4. Properties of the thresholds of the state variable
i. All thresholds of the state variable are decreasing in 9.
11. The thresholds related to the Skilled workers’ investment decisions are such that:

(a) Y6 >0, we have 1 < ay(9).
(b) Y6 > 0, we have a,(J) < ag(d) < az(d) and, a,(0) < as(d) < az(9).
(c) Y6 >0, as() > ag(9) if and only if (1 — B) > 5.

195. The thresholds related to the Educated & Unskilled workers’ decisions are such that:

(a) a1(0), az(d) and as(5) are finite if and only if 6 > 4.
(b) 1 < ay(6) if and only if 6 < d,.

(c) Y6 > 4§, we have as(9) < a1(0) and az(0) < a1(6).
(d) Y6 > 0, as3(5) > as(9) if and only if 6(1 — ) > 5.

iv. V6 < d,, we have ay(8) < a1(9) and ¥§ > 0,, we have ay(d) < 1.
v. Cut-off properties relative to the benchmark case are:

(a) by(6) = a,(9).
(b) b,(8) < as(d).

We show the proofs in Appendix C.4.

Next, we discuss the intuition of this lemma. But before that a word about the parametric
condition #(1 — 3) > . This and the converse of it are important in optimal decisions of
both types of workers, and hence in the characterization of the equilibria. Recall, 6 captures
the degree of association via job network. N, denotes the mass of educated workers, and
due to the presence of behavioral trap, it also represents the mass of potential parents who
may invest. Among them (1 — /3) is the proportion of Educated & Unskilled workers and
is that of the Skilled workers. Now, §(1 — 3) > 8 implies, first, the degree of association is
higher than the proportion of skilled and unskilled workers among the educated individuals.
Second, when 7,; = Vg

08(1— B)N., > B —0(1 — B)|N.y <
—_——
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Educated & Unskilled
workers’ conjectured
mass of skilled workers in
the next period coming

from the community of

Skilled workers
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So, if both types of workers invest with the same probability, then workers of both types
conjecture that the contribution of the Educated & Unskilled workers in the mass of skilled
workers of the next period is higher than that contribution of the Skilled workers.

Now, we provide the intuition of some of the properties of the thresholds depicted in
Lemma 4. Observe, on the one hand, the benefit from investment of any type of worker
is decreasing in the conjectured mass of skilled workers and is increasing with the state
variable. On the other hand, the cost of investment is non-increasing in the state variable —
it is decreasing for the Skilled workers and constant for the Educated & Unskilled workers.
Hence, the ranking of the thresholds depend on the conjectured mass of skilled workers at
the primitives of the definitions. Higher is that mass higher is the threshold. For example,
at the primitives of a,(0) the conjectured mass of Skilled worker is zero whereas that at ag(J)
is positive. Hence, ag(0) must be higher than a,(d) — the Skilled workers are willing to invest
at the primitive of a,(0) when the state variable is low as the benefit is infinity whereas
the state variable must be higher to make them invest at the primitive of ag(d). The other
rankings depicted in Part ii. (b) and those in Part iii. (c¢) follow from similar reasoning. The
ranking between a4(d) and ag(9) follows from the discussion on §(1 — ) > § and this logic.
The same goes for the ranking between a3(d) and a5(0).

Second, observe that the state variable, by assumptions, cannot be less than 1. So, if we
find that any threshold of the state variable is less than 1, then when the primitive of the
definition is satisfied, then the optimal strategy described in the definition would always be
true at all permissible range of the state variable. For example, we show that a;(d) < 1 when
0 > J,. This implies when the degree of child affinity is huge and all Skilled workers invest
with certainty, irrespective of the value of state variable, the Educated & Unskilled workers
would optimally invest with certainty. Finally, the intuition behind the ranking between
a4(0) and a;(0) follows directly from Lemma 3.

Now, we provide boundary conditions on equilibrium strategies. The first two conditions
provide lower and upper bounds, respectively, on the equilibrium strategy of the Skilled
workers and the last two provide the same of the Educated & Unskilled workers.

Lemma 5. Boundary Conditions on Equilibrium Probabilities of Investments

(i) Condition L' : Suppose mg > a4(0). Then in any equilibrium vy (mg) is bounded below
by 7y (mst) which is given by

[ln-oa -8 [0 -5+ 100 - Bl om)] " ma+ 00 -9y

Mgt (mst - 5)0

>
o o

the above inequality binds when my € [a4(0), a2(6)]. We havey (mg) =0 at my = aa(9),
7, (mst) € (0,1) Vg € (aa(d),a2(8)), andy (mg) =1 at mg > as(d). Also,

7, (mst) is nondecreasing in mg > a4(8) and is strictly increasing when mg € [as(9), az(9)).
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(ii) Condition T's: Suppose mg < ag(8). Then in any equilibrium vy is bounded above by
Ys(mg) which is given by

[l -00 - o1 m)l = ma+ 00 - )"

1
o o o o

where the above inequality binds when mg € [a,(0), ag(d))].
We have Ys(mg) = 0 at mg < a (9), Ys(ms) € (0,1) Vmg € (a,(0),a6(d)), and
Fs(ms) = 1 at mg = ag(9). Also, 7s(ms) is strictly increasing Vmg € [a,(6), ag(0)).

Ifo1—-p)>p
| | | |
| | | | st
a,(0) as(0) as(6) az(9)
Vst < ’7 (mst) Vst Z ls(msf)
(-5 <5 e 7 ()
| | | |
| | i i Mgt
a,(9) a4(9) ag(9) as(0)
Vst S :Ys (msf,)

Figure 3: Condition ', and T,

(i7i) Condition I : Suppose mgy > as(0). Then in any equilibrium ~y,, is bounded below by
Zu(mst) which is given by

5 03(6v, (ma)(1 = B) + B mu+1-08]" 1] 1 1_gp

o o o g

the above inequality binds when mg € [a5(0), a1(9)]. Note, v (mg) =0 at mg = a5(9),
7, (mst) € (0,1) Vmg € (a5(5),a1(6)), and v (ms) =1 at mg > a1(6). Also,

7, (mst) is nondecreasing inmy > as(0). It is strictly increasing when mg;, € [as(0), a1(0)).

(iv) Condition T'y: Suppose my < as(8). Then in any equilibrium v, is bounded above by

23



Yu(mse) which is given by

(081601 = B)Fulma)] 0 Pmg +1-08]

(1—5)°

1
<= =
o o o

We have 3,(mg) = 1 at mg = as(d),
Fu(mg) < 1 Vmg < az(d) and 3,(mg) is non-decreasing in mg.

Note that, due to Lemma 3, when mg < a3(9), at any equilibrium (Yo, Vst), Yur Will be
strictly lower than 7,(mg).

We prove this in Appendix C.5. The figure depicting Condition I', and Condition T',, is very
similar to Figure 3 which depicts Condition I', and Condition Iy, so we skip it in the main
text, it can be found in Supplementary Appendix.

A word about how we get these boundary conditions. To understand take ls(mst) for
example. First observe the way the 7 (my) has been defined in Condition [y~ ifyu = 1 then
at 7 (mg), (6) binds Vmy, € [a4(0), as(9)] and the benefit (the L.H.S. of (6)) is strictly higher
than the cost (R.H.S.) Vmg > az(6). Second, the maximum value 7, can take is 1, so from
(6), we can see that v, cannot be lower than ’)/s(mst> for any mg > a4(0), it is exactly equal
to ys(mst) when ~,; = 1. Hence, ’)/S(mst> is the lower bound on 7y Vmg > a4(8). Finally,
we can see from the definition of a4(d), ax(8) and (6) that 7,(as(d)) = 0, 7 (a2(d)) = 1
and vy (my) is strictly increasing in mg Vmy € [as(0), a3(6)). Similar intuition follows for
Conditions T, I, and T,

Next, given the parameters 9, o, s, 5,1, 6, and state variable my of an economy, we char-
acterize the equilibria of this benchmark case.

Proposition 5. Characterization of the Equilibria
1. The Not Educated workers never invest.

2. If and only if the degree of child affinity is huge, i.e. 6 > 04, at any mg > 1, there exists
a unique equilibrium (Yui, Yse) and is given by

Yur = 1 and v4 = ls(mst)5 where Zs(mst) is as defined in Condition L', in Lemma 5.

3. If and only if the degree of child affinity is moderately high, i.e. § € (0, 4]

(i) at any mg > min{ay, as}, there exists a unique equilibrium (Yye, Vst) given by

(If a1(0) < as(0) v =1, and vg =7 (Mmg) Vmg > a1(0)

—S8

where ls(mst) is as defined in Condition T'y in Lemma 5

[f a1(6> > a2(5) Yut = 07 and Vst = 1 Vmg € [a2(5>7 a5(5))7
Yut =7, (Mst), and v =1 Vmg > a5(9)

where lu(mst) is as defined in Condition T, in Lemma 5.

24



(ii) at any mg € [1,min{a1(0),a2(9)}), at any equilibrium (Yu:, vst), at least one type
of educated parents invest with a positive probability. In any equilibrium (Vut> Vst) 5
Conditions L'y, I's, I',, and Iy, defined in Lemma 5, must be satisfied.

(a) Suppose 5 < 0(1 — ). There is a unique equilibrium at any mg > 1.
]f a’l((s) < a’2(6); then Vst < Yut-

(b) Suppose 5 > 0(1—[3). If there are multiple equilibria at any mg > 1, then at most
in one such equilibrium both types of workers would play mized strategies.

4. If and only if the degree of child affinity is low, 1.e. 6 < J, at any mg > 1, there exists a
unique equilibrium (Yu, vst) and is given by

Yut = 07 and Vst = ’_YS(mst) v7nst c [17 CLG((S)]
where Js(mg) is as defined in Condition L, in Lemma 5
Yut = 0, and y4 =1 VYmg > ag(0).

Not Educated workers never invest

<’Yut7 ’Yst> =

<17ls(mst)> if mg > a1(9)
and min{a;(9), a2(d)} = a1(9)

((0,1) if mg € [a2(0),a5(9))
(v, (ms). 1) if mg > a5(5)
Ot ) and min{a;(8), ax(8)} = ap(s), | oot
(0,1) if my > a,(0) = (L7, (mx))

_L10.0.1)) if my € (a,(6). as(6)) when mg € [1, min{a;(9), a2(6)})

(0,0) otherwise. (Yut, Vst) satisfy Conditions T',, T, T, and T, Vims 2 1.
{multiple equilibria  only if 8 > (1 — )
unique equilibria it < 6(1—p5).
0 )
d da
LZW Modcrarc:}ly High H;(ge

Figure 4: Characterization of the Equilibria with a Behavioral Trap

We prove this in Appendix C.6.

Let us depict some numerical examples where 0(1— /) < . As noted, for such parameter
range multiple paths may exist or not exist. For § = 0.4 and g = 0.7, we show that unique
equilibrium exists for all mg in Figure 5 while multiple equilibria exists for some my in
Figure 6. Existence of multiple equilibria may lead to behavioral cycles in investment. If
adults in period ¢ invest independent of investment decisions in the previous period, they
may choose different equilibrium compared to their predecessors. These fluctuations in
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educational investment is not due to any fundamental changes in the economy, but only due
to existence of multiple equilibria.

Yut

1.1

1.0f------mmmmmo-
0.81

—_—— < 11>
061 <Vu1>

— <0y.> z
0.41 —_—<1ys>

—_— Y Of < Yy Ys >
0.2 —

0.7
—_— <y
O — s Of < Yy s >
- ; - " Mt 0.6 T T T T Mt
as as 1 a a as s 1 a a

Yut

114

1.0+-42
0.8
—_—— < 11>
061 <VYul> 091
<0y, >

<1,ys>

041 —_— Vo <Yy > 0.8
—_—— < 01>

0.2

Vst

0.7

0.0 1 ~ el e e

a

Figure 6: Example to depict multiple equilibria for some my > 1 and (1 — 5) < f.

We, now, analyze the dynamics and steady states. Here also, as the Not Educated workers
never invest, we have multiple steady states and they can be ranked in terms of inequality.
The steady state where m; = max{a;(9), as(d)}, we call that the ‘least unequal steady state’.

Proposition 6. Dynamics and Steady States

1.

There is almost always a poverty trap in an economy — there is none only when the
economy starts with all educated parents, max{ay(6), az(0)} < AB~19, and § > 4.

When the degree of child affinity is not low there are multiple steady states — any mg >
max{ai(0),as(d)} is a steady state.

(a) If mg > max{ai(9),az(d)}, then all educated workers invest with certainty. The mass

of educated individuals and the mass of skilled workers remain constant over time. The

income of a skilled worker remains constant at mg = m.
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(b) If mg < max{ai(0),as(0)}, at least one type of workers invest with probability less than
1. The mass of educated individuals and that of skilled workers decrease over time.
Their income increases over time and converges to some m; > max{ai(d), az(9)}.

(c) Steady states are ranked in inequality — higher the m}, higher is the inequality.
(d) The inequality at the least unequal steady state (weakly) increases with decrease in the
degree of child affinity.
3. When the degree of child affinity is low.
(a) If mg > a,(0), then the mass of skilled workers decreases over time and converges to
zero, and correspondingly the income of a skilled worker converges to infinity.

(b) If mg < a,(0), then the economy immediately reaches a steady state where all workers
are unskilled.

(c) There is no inequality at the steady state.

We prove in Appendix C.7.

The intuitions behind multiple steady states and only pure strategies being played in any
such steady state are very similar to those discussed in Section 5.1.

Next, we discuss the welfare implications of the behavioral anomalies studied so far.

6 Comparison: Implications of Behavioral Trap & Be-
havioral Bias on Welfare

We analyze the implications of behavioral anomaly focusing on two aspects:

(i) Distortions due to over and under investment:"* We address two types of distortions:

a parent regrets for over or under investing ex post, that is if she had believed the true

A t ts f der i ti t, that is if she had believed the t
probability she would have not under or over invested respectively. Not Educated workers
never invest, so we mainly focus on educated workers.

(b) In the benchmark case, at any equilibrium where the unskilled workers invest, the skilled
workers invest with probability 1. However, when both behavioral trap and behavioral
bias are present, at an equilibrium, the Skilled workers may under invest due to the over
investment of Educated & Unskilled workers. We explore this crowding out of investment
due to over investment.

(ii) Poverty Trap and Inequality at the steady states: We discuss the existence of the poverty
trap and compare the mass of families under poverty trap whenever possible. We compare
the inequality at the ‘least unequal steady states’ with that at the unique steady at the

HObserve, a child always prefers to be educated. We analyze from the parent’s point of view and do not
take her child’s point of view into account.
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benchmark case, whenever possible. Even when the inequalities are equal, we can rank in
terms of opportunities per se. Though this does not arise due to any external constraint but
due to internal constraint.

6.1 Implications of Behavioral Trap Only

We start with the comparison between the benchmark case and the case where only Not
Educated workers are imprisoned in a behavioral trap.

(i) Distortions: We show in the next observation that no educated worker under invests.
Observation 8. 1. When the degree of child affinity is not low,

(a) at any mg > 1 the skilled workers invest with the same probability in both the cases

(b) with behavioral trap Educated & Unskilled workers invest with strictly higher probability
than that in the benchmark case when the degree of child affinity is moderate, the
state variable is higher than b,(0), and the mass of Not Educated workers is positive,
otherwise the probabilities are equal.

2. When the degree of child affinity is low, all educated workers invest with the same proba-
bility in the benchmark case and in the case with behavioral trap.

We prove this in Appendix D.1.

The intuition behind the Educated & Unskilled workers investing with strictly higher prob-
ability under some parametric condition when there is a behavioral trap, goes back to the
discussion we had just after Proposition 3 — why it is to possible to have p,; = 1 when the
degree of child affinity is moderate though A, < 1. When the degree of child affinity is
affinity, for all other cases, there are too many Skilled workers in the economy, such that
no unskilled workers invest. Hence, the existence of a behavioral trap does not affect the
equilibrium strategies. When the degree of child affinity is high, all educated workers in-
vest with certainty and when that degree is low no unskilled worker invests and the Skilled
workers invest with the same probability in both the cases. However, there is no regret of
any educated worker — they are investing believing the true probability. The skilled workers
invest with the same probability in both the cases, so there is no problem of crowding out also.

(ii) Poverty Trap and Inequality at the steady states: When the degree of child affinity is
not low, there is no poverty trap in the benchmark case, whereas with a behavioral trap,
whenever an economy starts with a positive mass of Not Educated workers, there is a poverty
trap. When the degree of child affinity is low, then in both the cases, there is a poverty trap.
In fact, at the steady state all adults of such an economy work as unskilled workers. We
compare the steady states at various degrees of child affinity and find the following

Observation 9. When the degree of child affinity is not low, the inequality at the steady
state is (weakly) higher when there is a behavioral trap.

We prove this in Appendix D.2.
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Intuitively, the inequality at the steady state of the benchmark case and that at the ‘least
unequal steady state’ are equal because only at that steady state there are enough educated
workers who invest such that the income of a Skilled worker is AG~(1=% or f=U=9)p, (§)
depending on the child affinity is high or moderate respectively. In any other steady state
under behavioral trap, there are too few educated workers to invest, so the income of Skilled
workers is higher, and hence, the inequality is higher.

Finally, observe, even though the inequality under the ‘least unequal steady state’ and
that under the unique steady of the benchmark case are equal. When the degree of child
affinity is moderate and the mass of Not Educated workers is positive (but not that large
that ‘least unequal steady state’ is not achieved), we, clearly, can rank the ‘least unequal
steady state’ and the unique steady of the benchmark case in terms of opportunity. In
the benchmark case, any family can earn the higher income, earned by a Skilled worker,
with a positive probability at any period, but when there is a behavioral trap, only the
educated families have that opportunity. Observe, this is not due to any external constraint,
but internal constraint. However, we cannot Pareto rank. As, under the behavioral trap
case, here, the probability with which an Educated & Unskilled worker invests at the steady
state is strictly higher than the probability with which an unskilled worker invests in the
benchmark case. And, the adult of all educated family becomes an unskilled worker with a
positive probability. Therefore, the probability with which a positive mass of families earn
that higher income is higher than the benchmark case.

6.2 Implications of Behavioral Trap & Behavioral Bias

Now, we analyze the welfare implications when educated workers are also biased and the
Not Educated workers are in a behavioral trap by comparing the findings of Section 5.2 with
those of Section 4 as well as Section 5.1. Since the Not Educated workers never invest, so the
under investment or over investment of the biased educated workers must be in comparison
to the case where the educated workers are not biased (and the Not Educated workers do
not invest). Moreover, the difference in the mass of families under the poverty trap when the
educated workers are biased vis-a-vis when they are not attributes to the additional effect
of their over or under investment due to their bias on non-investment of the Not Educated
workers. Finally recall, the ‘least unequal steady state’ under behavioral trap coincide with
the unique steady state under the benchmark case. So, the difference in inequality at the
unique steady state of the benchmark case with that at the ‘least unequal steady state’ of
the case where both behavioral trap and behavioral bias are present, is due to the additional
effect of bias of the educated workers. Before these analyses, we cumulate the thresholds of
child affinity defined in Section 4 and Section 5.2.

Observation 10. 0 < § < § < §,.
We prove this ranking in Appendix D.3.
(i) Distortions:
For huge child affinity, .e. § > 4,, all parents invest with certainty in the benchmark

case, and all educated parents invest with certainty in the behavioral trap economy. The
addition of behavioral bias, makes skilled workers over confident and lowers their incentives
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to invest with certainty. Now, skilled workers invest with certainty only for skilled incomes
greater than as(9). Thus, behavioral bias produces only one distortion — for skilled income
less that as(0) skilled workers under invest. There is no over investment or crowding out —
as all workers who believe the true probability of becoming a skilled worker 5 would invest
with certainty.

When the degree of child affinity is high, i.e. § € [§,d,), investments in the benchmark
and the behavioral trap are the same as the previous case with huge child affinity. With
the inclusion of behavioral bias in educated workers, now all educated workers invest with
certainty only for sufficiently high state variable, i.e. greater than max{a;,as}. Now, both
educated-unskilled and skilled workers can under invest at lower state variable. And, here
also there is no over investment or crowding out because of the reason discussed above.

When the degree of child affinity is moderate, we have noted in Observation 8, Edu-
cated & Unskilled workers invest with (weakly) higher probability in the behavioral trap
model compared to the benchmark case. When educated parents have behavioral bias,
they may over or under invest. Let us consider when my > min{a;(0),as(d)}. The
Educated & Unskilled workers underinvest or overinvest depending on whether b,() is
lower or higher than a;(6). The Skilled workers underinvest or overinvest depending on
whether b,(d) is lower or higher than ay(d). In this case, there is crowding out when
Mg € [max{a;(9),bs(d)}, min{as(8),b,(8)}) — if the Educated & Unskilled workers had not
overinvested, the Skilled workers would have invested with a higher probability. However,
there is no crowding out when mg; € [b,(9), ax(d)) — the Educated & Unskilled workers do
not over invest, the Skilled workers under invest because of their bias. Now, let us consider
when mg < min{a,(5),a2(0)}. In general, Educated & Unskilled workers under invest (or
over) invest at any myg where v, is respectively lower (or higher) than p,;. Similarly, Skilled
workers under (or over) invest as 74 is lower (or higher) than pg. Ez post, they regret for
this under (or over) investment. There is crowding out of investment whenever v,; > pu
and vy < pg.

When the degree of child affinity is low ¢ < 9, unskilled workers never invest in any of the
three models. The investment decision of a Skilled worker is identical under the benchmark
case and the case with a behavioral trap. When both behavioral trap and behavioral trap
are present, the Skilled workers over invest or under invest depending on ag(d) is lower or
greater than b,(8) respectively. Precisely, Skilled workers over invest at m; € [ag(d), bs(9))
and under invests at my; € [bs(5),ag(d)). There is no crowding out as no unskilled workers
invest.

(ii) Poverty Trap and Inequality at the steady state: When the degree of child affinity is high
and the economy has only educated workers, then there is no poverty trap in the benchmark
case or the only behavioral trap case. However, when both behavioral trap and behavioral
bias (are )present, there is a poverty trap for the parametric condition, max{a;(d), as(d)} >
Ap~1=9),

We know that the existence of behavioral trap creates a poverty trap which did not
exist in the benchmark case. In addition, the steady state income inequality is weakly
higher in the behavioral trap. When the degree of child affinity is moderate, the behav-
ioral bias may increase or decrease this steady state income inequality. In the presence of
both behavioral trap and behavioral bias, the mass of families under poverty trap could be
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higher, equal or lower compared to the case when only behavioral trap exists, depending on
B(b,(8)/A)~ 1% E max{ai(9),az(d)}. When the degree of child affinity is low, in the steady
stated and across all the three scenarios, all families are in a poverty trap.

Due to behavioral bias of the educated workers, there are both over and under invest-
ments, so we find the following

Observation 11. (i) When the degree of child affinity is high 6 > 6, the steady state
inequality in the benchmark case is equal to that at the ‘least unequal steady state’
when both behavioral trap and behavioral bias are present only if the economy starts
with all educated workers and max{a,(8), az(8)} < AB~U=9) . Otherwise, the inequality
1s lower under the benchmark case.

(ii) When the degree of child affinity is moderate 6 € (3,9), the inequality at the unique
steady state of the benchmark case may be higher, equal or lower than that at the

‘least unequal steady state’ when both behavioral trap and behavioral bias are present
depending on [(b,(0)/A)~ =% ; max{ai(0),as(d)} respectively.

(iii) When the degree of child affinity is low, there is no inequality at the steady states in
both the cases.

Again, observe, even when the inequalities are equal, like in the only behavioral trap case,
we can rank the steady states in terms of ‘opportunity’. The inequality at the ‘least unequal
steady state’ when both behavioral trap and behavioral bias are present can be lower than
that when only behavioral trap is present (which, recall, is the same as the inequality at the
unique steady state at the benchmark case) only when the Educated & Unskilled workers
over invest due to their bias. Though they regret ex post, but this provides opportunity to
a higher mass of families to become rich at the steady state.
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7 Appendices
A Appendix for Benchmark Case

A.1 Proof of Observation 1.

In an economy with both skilled and unskilled workers, 0 < Ly < 1. Since 0 < ¢ < 1,
Ls_t(l_(z’) > 1. Thus, my = AL;t(l_¢) > 1 =my,. ]

A.2 Proof of Lemma 1.
(a) A skilled worker invests if and only if

5F@mﬁru1—mr_1}zm& (my = 5)° (A1)

o o

An unskilled parent invests if and only if

o o o o
Let us define y(z) such that
y(m):x——(x_s), r>1>35.

Since o < 0 it implies ¢'(z) < 0 and y"(z) > 0. Since mg > My, it implies y(mg) < y(mu).
Thus if

5[wmm4+u—ﬁwWHr_nmﬂ}>n@_ﬁmm—®0 L (=g
o o -

then

g

5 {[5mst+1 + (1 = B)mu41]? B mgt+1} S m_f:t (mst — 8)

o o o o

Hence, if an unskilled worker invests in her child’s education with positive probability, then
a skilled worker invest in her child’s education with certainty.

(b) Recall (3), a worker of type j, where j € {u, s}, invests with probability \;,

[5¢A[)\stht + )\ut(l - Lst)]—(1—¢) +1— ﬁ}o 1] S m;.rt B (mjt _ 5)0.

g o o o

where the inequality binds for j type when \;; € (0,1). From part (a), we also know
Aut > 0 only when Ay = 1.



Now, as mg; increases, the utility cost of investment, i.e., the RHS of the above inequality
decreases for skilled workers and remains the same for unskilled workers. Increase in mg;
implies decrease in Lg. We show, for given (A, Ag), the benefit, i.e. the L.H.S. of the above
inequality (weakly) increases with decrease in Lg:

_5(1_¢>B¢A [ﬁd)A[)\stht—i_)\ut(1_Lst>]_(1_¢)+1_ﬁ] o : [)\stht_'_)\ut(1_Lst>]_(2_¢) : P\st_)\ut] S 0.

where the above inequality is coming from the fact that Ay > A;.

Hence, with increase in the income of the skilled worker at period ¢, the benefit of
investment (weakly) increases and the utility cost of investment (weakly) decreases. Hence,
the probability of investment must increase (weakly). O

A.3 Proof of Observation 2.
(1-59°7—-1
1—[AB? +1—p]"

Clearly, d = (1 —-35)7 =1 > 0.

d=(1-5—1andé =

Since A > 1 and 3 € (0,1) we get that (A8% + 1 — B) is a weighted average of AF~1=? and
1. Hence, AB® +1—-8>1o0r0< (A3%+1— )7 < 1. It follows,

(1-59°7-1
1—[AB?+1-pg]

<l
]

(1-5)°—1< 0 <

A.4 Formal Expression for the Definition 2

(i) At b,(0) a skilled worker is indifferent between investing and not investing, when no
other worker invests. Thus, Ny 1 =0, Ly = 0, and mg1 — 0o and it must be that

s [Bmes + (=B 1] 00 (0,0) -3

= b,(0) 1 by(0)7 = (b,(6) —5)7 + 6 =0. (A.3)

(i) At by(0) a skilled worker is indifferent between investing and not investing, when all
other skilled worker invest with probability 1 and no unskilled worker invests. Thus,
Lg1 = BLg, Mgyi1 = AL;t$f¢) = 179D, (5) and it must be that

by otz 1) B (o9

(A.4)

o o g g

(iii) At b,(0) a unskilled worker is indifferent between investing and not investing, when all
skilled worker invest with probability 1 and no other unskilled worker invests. Thus,
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Lai1 = BLa, mapr = ALY ? = 7079, (6) and it must be that

s[0) +1-p1 1] 1 (-3 (A5)

g g o o

b,(9) :

A.5 Proof of Lemma 2.

(i) This is immediate from the definition.
(ii)) We get this by differentiating equations (A.3), (A.4) and (A.5) with respect to 0.

(iii)(a) It is sufficient to show show that b,(6) < 1 at § = 4.

R

= (1—5)"—1:[(1—5)"—1][[5%“(5);1_5]0—% = b,(8)=p"?<1.

(iii)(b) We now show that b,(§) > 1 if and only if § < 4.
bs(6) > 1 if and only if the expected net benefit (and utility cost) from the investment
of a skilled parent is higher (and lower respectively) at b,(d) than at 1, when all other
skilled workers are investing and no unskilled worker is investing. That is, bs(d) > 1 if
and only if

JBPri-gr 1)1 (-8 o (1-57-1

o o o o 1—[B+1—-p]°

5.

(iii)(c) We show if and only if § € [0,6), then b,(6) > 1. It follows directly from (A.3).
That b,(d) = oo when 6 € [0,0), also follows directly from (A.5). Hence, proved. O

A.6 Proof of Proposition 1

1. Consider any 6 > §, from (3) it can be seen that v;; = 1 is the strictly dominating strategy
for j™ type of worker, where j € {u,s}. When § = 0, similarly, it can be seen that v, = 1
is the strictly dominating strategy for a skilled worker and ~,; = 1 is weakly dominating
strategy for an unskilled worker. Now, observe again from (3), if a positive mass of unskilled
worker plays any strategy other than ~,; = 1, then such an unskilled worker has an incentive
to deviate and play 7,; = 1. Therefore, (1,1) is a unique equilibrium V& > 6.

2. Now consider the case § € [4,6).
From Lemma 1, we have that in any equilibrium where \,; > 0, Ag; = 1. Now, from (3),
it can bee seen that for any mg > 1, at (1, 1), the benefit from investment of an unskilled

worker is strictly lower than her cost of investment. So, she has an incentive to deviate.
Hence, (1,1) cannot be an equilibrium.
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2. (a), (b) and (c) Come directly from the definitions of b,(d), bs(d). And from the Ob-
servation 2 that b,(6) < 1. Finally observe when A, € (0,1), an unskilled worker must
be indifferent between investing and not investing, that is (3) must bind, when all skilled
worker invests with a positive probability and all other unskilled worker invests with that A\,
otherwise, she would have an incentive to deviate — if the benefit is strictly higher then she
would invest with probability 1 and if the cost is higher then she would not invest. Similar,
when Ay € (0,1), (3) must bind.

3. Now consider the case § < 4.

Again it can be seen from (3) that at (A, 1) where A,z > 0, the benefit from investment of
an unskilled worker is strictly lower than her cost of investment. So, she has an incentive to
deviate. Hence, there does not exist any equilibrium where A,; > 0.

3. (a), (b) and (c) Now directly follows from the definitions of b,(§) and b,(§). Following the
argument above, it can be shown that when Ay € (0,1) As € (0, 1), (3) must bind. 0O

A.7 Proof of Proposition 2

1. (a) From Proposition 1 1., we have that all parents invest with certainty. So, the economy
immediately enters into a steady state, the mass of skilled worker is L = -1 =  and the
income of a skilled worker is A(L?)~(1=9 = Ap=01-9),

Now we argue at the steady state, the probability with which an adult works as a skilled
worker is 3:

B - [\: - the probability that her parent was a skilled worker
+ Ay - the probability that her parent was an unskilled worker |
—3-1
=B

where the second equality comes from \; = A}, = 1.

1. (b) Observe (0,1) or ((0,1),1) cannot be the equilibrium strategy at any steady state
because in those cases, the mass of skilled workers decreases over time. Also observe from
Proposition 1, those strategies are equilibria only when mg is lower than b,(J) or the mass

of skilled workers is higher than 3 (b,(6)/ A)_ﬁ.

Hence, if an economy starts with a mass of skilled workers higher than 3 (b, (0)/ A)_ﬁ,
then only skilled workers invest with a positive probability and hence, the mass of skilled
workers decreases over time and their income increases over time and reaches b, (9).

Now, we show that \,; is such that the economy enters into a steady state at t + 1. For
that consider, again, the incentive constraint of an unskilled worker when when all other
unskilled workers are investing with probability A,; and all skilled workers are investing with
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certainty

(mut - 5)0 + 5[6m5t+1 + (1 - 5)mut+1]a _ My + 5mgt+1

o o o o

At the steady state, Ly1 = Lg which implies
1 [[1+6-(1—-357]° b (6)

ﬁ(kut + (1 - Aut)Lst> = Lst+1 = ﬁ—A

(b,(6)/A) TF — Ly,

= )\ut - 1 L
- List

Observe, b,(d) is time independent, hence Ly, is time independent. So, if an economy is
(,(0)/A) ™ - Ly

1 — Ly )
t+ 1. At the steady state, mass of skilled worker L? = 3 (b,(d)/A) ¢, wage of a skilled

1
worker m! = 179}, (§) and X} = (b“(é)/lA) Llf — L:.

To check that indeed this is a steady state, we need A€ (0,1). Now, A < 1 because
the degree of child affinity is not high, i.e. § < §. And, \* > 0 because m* = 6_(1_¢)Qu(5) >
b,(0). Hence, at the steady state, the mass of skilled worker is L! = 3 (b,(9)/ A)_ﬁ, the
wage of a skilled worker m* = f~1=9)p,_(§) and an unskilled worker invests with probability

(b)) T -1

An = T ® whereas a skilled worker invests with probability 1.

such that A\, = and Ay = 1, then the economy is at a steady state at

At the steady state, the probability with which an adult works as a skilled worker is

B« [\: - the probability that her parent was a skilled worker
+ A! - the probability that her parent was an unskilled worker |
<1.

where the inequality comes from A, < 1. Also, observe differentiating A, with respect to
b,(0), we get that ! strictly increases with decrease in b,(d) and b,(d) strictly decreases
with increase in 4, i.e. , as § decreases A strictly decreases and A\ = 1. Hence the result.

1. (c) When the degree of child affinity is high, the income of a skilled worker is Ap~(1=9)
and that of an unskilled worker is 1. So, the inequality is the same ¥ > 4.

When the degree of child affinity is moderate, the income of a skilled worker is ~1=%)p, (§)
and that of an unskilled worker is 1. Now, b, () strictly decreases with increase in 4. So, the
difference between the income of a skilled worker and that of an unskilled worker decreases
with increase in §. Hence, the inequality increases with decrease in 4.

2. (a) From Part 3. of Proposition 1., we have that when § < J, then no unskilled workers




invest at any mg. Moreover, when mg > b,(6), then skilled workers invest with a positive
probability. So, the mass of educated workers and hence, the mass of skilled workers decrease
over time and converge to zero, whereas the income of a skilled worker increases over time
and converges to infinity.

2. (b) From Part 3. of Proposition 1., we have mg < b,(d), no parents invest. So, the
economy is is in a steady state where no parent invests and all workers are unskilled.

3. (c) All adults work as unskilled workers and earn 1. Hence, the result. O

B Appendix for Bias via Education: Behavioral Trap

B.1 Formal Statement of Definition 3

Recall the definition of by(§). The minimum value of the state variable (mg) at period ¢,
at which Educated & Unskilled workers invest with certainty, i.e. p, = 1 if and only if
Mg < by(8). From Lemma 1 (a), we know at b, (8), all skilled workers invest with certainty.

So, at b, () an Educated & Unskilled worker is just indifferent between investing and not
investing, when all unskilled workers invest with certainty. Observe, at any my > b,(d), the
mass of educated worker at ¢ + 1 would be N So, mgi1 = mg.

s[Bu@+1=8" 1] 1 _ (1-9" (A.6)

g o g g

bu(9) :

B.2 Proof of Observation 5

(i) We get this by differentiating equation (A.6).
(1-5°7-1

1= (ABo+1-75)

Suppose § € (4,6). From the definition of b, (8) and b,(8) we have b,(8) = 3~1=9b,(6).

That b, (d) = oo when the degree of child affinity is low follows directly from (A.6).

(ii) Recall § =

— and from the definition of by (6) we have b, (6) = Ap~1=9),

(iii) Now, it is clear that b,(8) = B'%b, () < by(0). O
B.3 Proof of Proposition 3

1. See Observation 3.

2. Consider (4), py =1 if

5 [ﬁ(bA[(l - 5)Net _'_ 5Net]_(1_¢) + 1 - ﬁ}a ]_

>

S
)

o o
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Now, the benefit, i.e. the L.H.S. increases with decrease in N,; and the maximum value N
can take is 1. Similarly, the L.H.S. increases with increase in 0. So, to prove this, it sufficient
to show that L.H.S. is no less than R.H.S. at N, =1 and § = ¢:

)

[B°A+1-5]" 1 J1o (-9
o ol o o
Now, from the definition of 6, it can be seen that L.H.S. is equal to R.H.S. Hence, p, = 1

VN, € [0,1] and 6 > 6.

3. (a),(b),(c),(d) Coming from the definitions of b,(d), b, (d), bs(d)

) Zu

b,(9), and Lemma 2 (iii).

) =S8

4. (a),(b),(c) Coming from the definitions of b,(4), bs(8), b,(5), and Lemma 2 Part (iii). O

)’ =8

B.4 Proof of Proposition 4

1. Not Educated workers never invest, so if an economy starts with a positive mass of Not
Educated workers then there will be a poverty trap.

When 6 < 6§, even if the economy starts with all educated workers, Educated & Unskilled
workers invest with probability less than 1. Hence, there will be a positive mass of Not
Educated workers in the next period. Following the argument above, we can see that there
will be poverty trap in the economy.

Thus, in any economy, there exists a poverty trap almost always.

2. (a) From Proposition 3., we have that when § > §, there is a unique steady state where all
educated workers invest. If the mass of Not Educated workers is zero then the steady state
income of a skilled worker would be b,(8). If the mass of Not Educated workers is positive,
then that would be strictly higher than b,(d). All the educated workers invest forever from
the beginning. Hence, the result.

2. (b) From Proposition 3., we have that when the degree of child affinity is moderate and
mg > by(6), all educated workers invest. So, the mass of educated workers, and hence the
mass of skilled workers and their income remain constant over time.

Therefore, any mg > b,(8) is a steady state.

2. (c) From Proposition 3., we have that when m,, < b,(0), Educated & Unskilled workers
invest with probability less than 1. Hence, the mass of educated workers, and hence the
mass of skilled workers decrease over time. Since, the income of a skilled worker is inversely
related to the mass of skilled workers, this implies the income of a skilled worker increases
over time. This happens till at some ¢ my > bd).

Then, the parametric condition satisfies that described in Part 2. (b) of this proposition.
Hence, the steady state.
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2. (d) This is obvious — the inequality at the steady state — the difference between the income
of a skilled worker and that of an unskilled worker increases with increase in the income of
a skilled worker, as that of an unskilled worker is a constant.

2. (e) The difference between b,(5) and income of an unskilled worker is a constant. So,
when the degree of child affinity is high the inequality at the least unequal steady state is a
constant. Now, b,(d) increases with decrease in §. Hence, the result.

3. This is very similar to the proof of Proposition 2 Part 2., so we skip. O

C Appendix for Bias via Education and Job Network

C.1 Proof of Lemma 3

Suppose not, there exists an equilibrium (7., vs:) such that v¢ = 0 and 7, > 0.

We show this is not possible. The argument is as follows. (7, 7s) is an equilibrium at
any state variable mg imply that (i) an Educated & Unskilled worker is indifferent between
investing and not investing when all other Educated & Unskilled workers invest with proba-
bility 7., and no Educated & Skilled worker invests, and (ii) the benefit from investment of
an Educated & Skilled worker is no higher than her utility cost, when all Educated & Un-
skilled workers invest with probability v,; and no other Educated & Skilled worker invests.
But we show that when (i) is true, (ii) cannot hold. So, an Educated & Skilled worker would
have an incentive to deviate unilaterally implying (., Vs) cannot be an equilibrium.
Formally, at equilibrium ~,; > 0 and v, = 0 imply

51— [0B10va(1 — B0y + 1~ 65]°]

>(1—-5)7 -1

>(mg — 5)7 —m?, (since mg > 1)

>0[1 = [[1= 01 = B)]lyua(1 = Ay +6(1 = 5)]7]

= (1=60) > [yu(1 = 8)]""2[[1 = 6(1 = B)] = 0°B]ma. (A7)

Now, define a function L(#) = (1 — 8)~ =91 — (1 — ) — 6°8) — 1 + 6.
Observe, L(0) = (1 —3)"47% —1 and L(1) = 0. Further,
L) =-1=8)""2(1 = 8+¢07""8) +1

o _ <1—6><l—¢>—<1—6>]‘“¢ H‘ﬁ
L'#)=0 at 0= o3 > 5 > 1

L"(0) = (1—8)"""p(1 - )~ > 0

Since L'(6) < 0 for all § € [0, 1] and the boundary values of L(#) at 0 and 1 are non-negative,
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L(#) > 0 for all § € [0,1]. Thus,
(1= 91-001-8)—6°8] >1-10

Hence, (1 — )]0~ [[1— 01— ) — 098] mu > (1— )9 [[1—0(1 — 8)— 0°6] > 10
which contradicts (A.7). O

C.2 Proof of Observation 6

We have already shown in Observation 2 that 0 < §. Here we show, § < d,. The weighted
average of ((1 — ) + £)~1"% and one will be greater than one. It follows,

(1-597-1

§=(1-5"-1<1= 0B(0(1=B)+ B) (=9 +1— 68"

g O

C.3 Formal Expressions for Definition 5

(i) Given Lemma 3, when 74 = 0, 7, is also zero. Hence, for a given degree of child
affinity 9, at a,(0) a Skilled worker is indifferent between investing and not investing,
when no other worker invests. So, from (6) we have

a,(0) : a,(0)” = (a.(6) —5)7 +6 =0. (A.8)

(ii) For a given degree of child affinity ¢, at ag(d) a Skilled worker is just indifferent between
investing and not investing, when all other Skilled workers are investing with certainty
and no Educated & Unskilled worker is investing. So, from (6)

wo0) D[ 001— B)%as(8) +01 — 3))7 1] = W Z =y )

g

(iii) For a given degree of child affinity 0, at a4(9) a Skilled worker is just indifferent between
investing and not investing, when no other Skilled worker is investing and all Educated
& Unskilled workers are investing with certainty. So, from (6)

o

as(9) : p [[1—6(1-p8))(1- B)~ 19, (5) + 6(1 — 5" —1] = a4(6)” — (as(d) — 5)‘"

g

(A.10)

(iv) For a given degree of child affinity 6, at a2(d) a Skilled worker is just indifferent be-
tween investing and not investing, when all other educated workers are investing with
certainty. So, from (6)

w(): 2[00 - A+ (1 0)(1— B Das(6) + 01— 5))7 1]

_ a2(6)7 — (az(9) — 5)0. (A.11)

o

X



(v) For a given degree of child affinity 0, at a5(0) an Educated & Unskilled worker is just
indifferent between investing and not investing, when all Skilled workers are investing
and no other Educated & Unskilled worker is investing. So, from (5)

) :1—(1—5)0

ad@:;[wﬂ%d®+l—9ma—l} (A.12)

g

(vi) For a given degree of child affinity 0, at a3(d) an Educated & Unskilled worker is just
indifferent between investing and not investing, when all other Educated & Unskilled
workers are investing with certainty and no Skilled worker is investing. So, from (5)

_1-(1-3)

0
o o

as(6) = [[08[6(1 = B))"""Pas(8) +1 - 6p]" — 1] —0. (A.13)
(vii) For a given degree of child affinity J, at a,(d) an Educated & Unskilled worker is just
indifferent between investing and not investing, when all other educated workers are

investing with certainty. So, from (6)
a1 (6) : g[[%[@(l —B)+ B ay(5) + 1 - 08]7 - 1] = # (A.14)

C.4 Proof of Lemma 4

i. We want to show that all income cut-offs are decreasing in §. Consider the income-cutoff
ag(d), which is determined by (A.9). The L.H.S. of (A.9) is increasing in ag and ¢ and the
R.H.S is decreasing in ag. Differentiating the equation gives dag/dd < 0. We get the same
result for the other income cut-offs a,, ai, as, as, a, and as by differentiating their respective
equations (A.8), (A.10)—(A.14).

ii. (a) We show ay(d) > 1. Suppose not. From the argument used in the proof of Lemma 1

(as(6) — 5)7 — as(6)” > (1 — 5" —1> 0

that is, the utility cost of investment is positive. So, it is enough to show that the benefit
from investment (which satisfies the primitives of the definition) is negative:

260 - Bl + (- )1 - B " Paa(d) + 81— 5))7 1] <0,

The following steps give us that

1+(1-0)(1-p8)]"? <1
= [1=01-B)1+1—-0)(1—8)]"ay(0)+0(1— ) <[L—0(1—B)ax(5) +6(1 — B)
< 1-0(1-8)+6(1-8)
=1

ii. (b) We first show ay(d) > a4(9). Suppose not and ay(d) < ays(d). We obtain the contra-




diction in two steps — the utility cost of investment at as(9) is no less than that at as(9) and
the benefit from investment (satisfying the respective primitives of the definitions) at as(d)
is strictly higher than that at a4(6).

That the utility cost of investment at as(J) is no less than that at as(J)

(a4(0) = 5)7 = as(8)” < (az(6) — 5)” — a2(9)”

is immediate from the argument used in Lemma 1.
Now, compare the benefits, recall, the primitives of definition of a4(d) and as(d). For as(d):
all Educated & Unskilled workers invest. For ay(d): all educated workers invest.

1+(1-0)(1—-p8)>1-8
= S[1= =00 = A+ (1 - 6)(1 - ) 1 Day(8) +0(1 - 7))
< o1 (-6 - B - B Pas) +6(1 - 5)°]
This gives us the desired contradiction.

Now, we show ay(d) > ag(d). We follow similar steps and prove this by contradiction.

Suppose not and as < ag which implies (ag — 5)° — af < (as — §)° — aJ. At the same time,
1+1-6)(1-p)>1-60(1-p)
= o[- 60 - B+ (1 - 6)(1 - B Daa(0) + 61 - B)]]
< o1 (-0 - B)Pas(6) +6(1 - B)]"]
This is a contradiction.

Finally, we show a,(0) < a4(d) and a,(5) < ag(0).

Here, we simply note that the benefits at the primitive of a,(d) is higher than that at the
primitive of a4(d), as well as that of 4(5). Hence, to make a skilled worker indifferent, we
must have a,(d) lower than as(9) as well as ag(9).

For this, observe that the benefit at the primitive of a,(d) is infinity whereas that at the
primitive of a4(d) or of ag(d) is finite. Hence, the result.

ii. (c) aq(d) > ag(9) if and only if (1 — 5) > .

First, we show by contradiction that when #(1 — 8) > [ then a4(d) > ag(d). The converse
can be shown similarly which we skip.

Suppose not #(1 — ) > § and a4(d) < ag(d) which implies utility cost of investment at a,(J)
is no less than that at ag(9):

(a6(0) = 5)7 — as(0)” < (as(0) — 5)” — aa(9)”



We show the benefit at the primitive of a4(9) is strictly lower than that of ag(d):

01-p0)>p = 1-01-0p)<1-p
= 61— (=001 = A1~ B)Pau(6) + 601~ B)]°]
< 5[1 —[[1—0(1 = B)]%aq(d) + 6(1 — @)ﬂ

Hence, the statements of both the definitions of a4(d) and ag(d) cannot simultaneously be
true.

iii. (a) We show a4(9), a3(d) and as(0) are finite if and only if 6 > ¢ = (1 —5)7 — 1.
Let us first consider the income cut-oft a;(d). We rewrite (A.14) as

o 1-(1-57+06
— - ,

If 0 < (1—35)7 —1, then R.H.S is negative and hence there does not exist any finite a;(J)
which would satisfy the above equation. If 6 > (1—5)? —1, then R.H.S is a positive fraction.
Since L.H.S. is decreasing and convex in a;(6) and is bounded between [0, (1 — 63)7] for all
a1(6) > 0. Thus, there exists a finite a;(d) at which L.H.S. equals R.H.S.

We follow analogous reasoning and use equations (A.12) and (A.13) to show the same
for the income-cutoffs a5(d) and az(d).

[08[0(1 — B) + 8] "ay(8) + 1 — 0]

iii. (b) 1 < ay(6) if and only if § < d,.

Suppose a;(9) z 1. Using this in (A.14) we get

(1-5)9°7—-1
1—[0B(0(1 = B) + B)~0=9) +1 - 65

0 .-

AV
Il

This proves the claim.

We now determine the rankings among the thresholds of the state variable which are relevant
for Educated & Unskilled workers. Now, their cost of investment is independent of the state
variable, so we need to compare only the benefits while ranking those thresholds. Also, we
know a1(6), az(d) and as(d) are finite if and only if 6 > 9, so the following rankings are only
when 6 > 4.
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iii. (c) First we show a;5(0) < a;(d) Comparing (A.14) and (A.12) we get,

5{1— [6816(1 — B) + 8]~ ay (6) + 1 — 6] } _5[1— [95¢a5(5)+1—95]"]
= 0810(1 — 8) + B7""Yay(6) = 05%as(5)

= [0(1=8)+ 8" ai(6) = B~ Pas(6)
= a1(0) >a5(0) asf(1—p)+8>p

Now, we show a3(d) < a;(d) Comparing (A.14) and (A.13), we get

61— [081001 = B) + B0 Day(8) + 1 - 08]°| =8 [1 = [68[6(1 — B))"*Pas(8) + 1 - 05] |

= 0B[0(1— B) + B " ai () = 0810(1 — B)]" P as(6)
= a1(0) >a3(d) asO(1—p)+p>0(1-7)

iii. (d) az(d) > az(9) if and only if 6(1 — 3) >  Comparing (A.13) and (A.12) we get,

5[1 — [6810(1 = B)] """ Dag(8) + 1 — eﬁﬂ - 5[1 — [08%a5(5) + 1 — 68] "}
= 08001 — B)] """ Yay(6) = 65%as(9)
Hence, as(0) > as(8) if and only if [#(1 — 5)] "9 < 3~0=9) = 9(1 — B) > .

iv. First, we show Vd < d,, as(d) < a1(9).

Suppose not. 30 < §, such that a;(d) < as(9). Then consider any my € [a1(0), as(d)]. Since,
mst > a1(6), Yur = 1 Vv = [0,1]. And, by the definition of a4(6), vs must be equal to zero
which contradicts Lemma 3.

Now, we show YV > d,, as(d) < 1.

It can again be proved by contradiction following the above argument and considering the
range mg € [1, aq(0)].

v. (a) Comparing definitions (A.3) and (A.8) we get b,(0) = a,(0).
v. (b) b,(9) < as(9).

We show that the benefit from investment with behavioral anomaly at b, () when 6 < 1 is
strictly lower than that when § = 1, i.e.

J[ECUESELUA PP UESES

g o

so, az(9) > b,(6) V 6 €[0,1], and strictly higher V 6 < 1.
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Let z = 08D, (6) + 1 — 3. Then,

X B0 >0 b, >

Observe at b, = 37, the benefit from investment when § = 1 is zero and cost is positive,
but b, (d) should be such that the benefit is equal to cost. The benefit is increasing in myg,
hence, b, (§) must be greater than 3'~¢. Hence, we retrace the steps to find b, < as. O

C.5 Derivation of Conditions Depicted in Lemma 5

Condition I: First, we define ls(mst)' Then, we prove its properties

0 at mg = ay(0)
ls(mst) €(0,1) Vmg € (as(0),az(9))
1 at mg > as(0).

and 7 _(myg) is strictly increasing Vmy; € [a4(6), a2(9)). We, also, show that when mg > a4(9),
at any equilibrium ~,, is bounded below by Vs(mst). We consider three cases — Case 1.
Mg € (a4(8), az(8)), Case 2. my > ay(8) and Case 3. my = ay(d) one by one, and prove the
relevant properties of that range.

Suppose, mg > a4(0). Zs(mst) is defined as follows. A skilled worker is indifferent between
investing and not investing when all Educated & Unskilled workers invest with certainty and
all other Skilled workers invest with v _(ms). That is,

[lo-o0-p1-[0- )+ 1 - 00 - O] ma+00 -]

o o

>mgt _ (mst — 3)°

o g

From the definitions of a4(d) and ag(0), it is clear that my = aq(d), v (ms) = 0, and at
Mg = CLQ(&), 18<mst) =1.

Case 1. Consider any mg € (a4(0), az(0)).

First, we show v =7 (my) > 0 =7 _(a4(5)). Suppose not. Then, we must have

S
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as(0)”  (as(0) — 5)7

o g

[[1-00-8)]-[0-5)+0-00 =By ] Pae) +o0-5)] 1}

) — -

g g

[i-60 -8 [1-8)+1-00 -] " ma+o0-5)] 1
>0 . -

>m_§,’t _ (my — 5)°

g o

o o — s\o 5 4 5 _ 3\o
But it is not possible as mg > a4(d) implies % — (m ta 5) > a4(a) — (aa )a ) )
Second, similarly, we can show v (mg) <1 =17 (a2(9)).

So, v (ms) € (0,1) for any my € (a4(6), a2(3)).

Third, we show Zs(mst) must be increasing in mg;.

Suppose not. a4(8) < ml, < m?, < ay(d) and Zi = ls(m;t) > zs(mgt) = ﬁ. Then, we must
have

m3 _ (m3, — 5)°
[lr-on—sn-fa-9+ -0 - P +0a -] 4]

>5[u—ea—ﬁnwa—6»+u—m1—muﬂ*“@m;+w1—m}_“1

o -

Therefore, when mg € (a4(9),a2(9)) v (ms) € (0,1) and is increasing in mg.

—s

Fourth, we show 7s(m,) is bounded below by 7 (ms), i.e.

- 1 (mst) if Yut = ]-7
'Vst(mst) 5 .
> ls(mst) if v < 1.
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We show this in five steps:
Step 1. We show the conjectured mass of skilled worker increases with increase in ,,;, holding
Yst constant.

Suppose, 7., < 7%, then

es! es es _ res?
Lst-l,-l - %}Ltﬁ(l - 6)Net + VstDy ﬁNet < Vitﬁ(l - ﬁ)Net + VstDy ﬁNet == L5t+1~

Step 2. The conjectured benefit from investment increases with decrease in 7v,;, holding v
constaglt because
1
wS i, < wS,, where like before 7., < 72,

Step 3. Hence, from Step 2 we get the following. If at any my, (7., vL) and (v2,,72) are
two equilibria, and like above 7., < 72, then

where it holds with equality only when ~2, = 1.
Step 4. As v, is a probability, the maximum value it can take is 1.

Step 5. Suppose at any mg € (aq(0),a2(0)), (Yut,Vst) is an equilibrium. Then by the
definition of y (m) we have

Vst = zs(mst) if Yut = 1

and from the argument above v5 > zs(mst) if v < 1.

Case 2. Consider any mg > a(d). At mgy = as(d), 75 = 1 even when 7,, = 1. So following
the argument above, at mgy = a(9), Vst = 1 Ve < 1.

Similarly, we can see, at any mg > as(9), Vs = 1 Ve < 1.

Hence, at any Mst 2 0,2(5) o (mst) =1 and VSt(mst) = Vs(mst)'

—S

Case 3. Suppose mg = a4(d). Now it is clear that

=0=1_(as(0)) if yu =1,

Yst(aa(9)) {

and that Zs(mst) is increasing in my; at a4(0).

Condition Ty: First, we define #4,(m,). Then, we prove that

0 at mg < a,(0)
Vs(mse) ¢ € (0,1)  Vmy € (a,(9), as(9))
1 at mg = ag(0).
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la,(9),as(5)], at any equilibrium ~, is bounded above by 7,(ms;). We consider three cases —
Case 1. mg € (a,(0),a6(0)), Case 2. mg = ag(d) and Case 3. mgy < a (), one by one, and
prove the relevant properties of that range.

and 7s(mg) is strictly increasing Vmg € [a,(0),as(5)). We, also, show that when mg €

Ys(mg) is defined as follows. A skilled worker is indifferent between investing and not
investing when no Educated & Unskilled worker invests and all other Skilled workers invest
with probability 7, (ms;).

From the definitions of a,(0) and ag(d), now it is clear that

at mg = a,(0) Fs(mg) =0, and at mg = ag(d), Fs(mg) = 1.
Case 1. Suppose mg € (a,(5),ag(d))

First, following the argument used in Condition I', above, it can be shown that, at this range
of mg, 7s(mg) € (0,1) and is increasing in m.

Second, we show that, at this range of mg, vs(ms) is bounded above by s(mg), i.e.

- f_}/s(mst) if Yut = Ov
Vst(mst> _ . .
< As(mg) if v >0

Following the argument used in Condition I', above, we can show that if at any my, (7., 7e:)
and (v2,,72) are two equilibria, and v}, < ~2,, then

Vot = TV
where it holds with equality only when 72 = 1.

Now, as 7, is a probability, the minimum value it can take is 0.

Suppose, at any mg € (a,(9),a6(9)), (Yut, Vst) is an equilibrium. Then by the definition of
7s(mg) we have

Vst = ’75 (mst) if Yut = 0

and from the argument above

Vst < f_}/S(mst) if Yut > 0.

Case 2. Suppose mg = ag(d). Now it is clear that at any equilibrium (7, Vst)

=1="4(ag(d)) if yu =0,
<1 if v > 0.

7st(a6(9)) {

Case 3. Suppose mg < a,(d). By the definition of a,(d) and 7,, we have J5(mg) = 0.

xvil



Thus, at any equilibrium (7,:, Vst), Vst = 0 = 7s. And also observe, 74(myg;) is increasing in
Mg at mg = a,(9).

(iii) Can be proved following the argument used in the proof of Condition T,.

(iv) Can be proved following the argument used in the proof of Condition T';. O

C.6 Characterization of Equilibria

We introduce an observation and a lemma which we use to prove Proposition 5 in C.6.1.

Observation C.1. Suppose there are two equilibria (Yui, Vst) and (Yus, Yst) at any mg > 1.
If vjr < A1 then Y < Y where j, k € {u,s} and j # k. The latter inequality binds only
when Y = 1.

Proof. Immediate from investment decisions of both types of parents given by (5) and (6). O
Lemma C.1. Suppose 6 € (9,0,].

(i) Suppose O(1 — ) # (3, then at any mg € [1,min{a,as}), there can be at most one
equilibrium where both types of workers play mized strategies.

(ii) At anymg € [1,min{a1(9), az(6)}), there can be multiple equilibria only if 5 > 6(1—F).

(111) Suppose f < O(1—P). Let (yut, Vst) be an equilibrium at any my € [1, min{a;(0), a2(9)}).
If Vst > Yut, then at all my € (mg, min{ai(8),a2(8)}) Vst > Fur where (Yur, Yse) s an
equilibrium at M.

Proof. § € (4,0,]. Then from Lemma 2 and Lemma 4, we have a,(d) < 1.

(i) Suppose not. 6(1 — ) # B and at some my € [1,min{ay,as}), there exist two equilibria
(Vuts Vst) (Yut, Vst) where both types of workers play mixed strategies, i.e. 0 < Yy 7# Fur < 1
and 0 < vy # o < 1.

Then from the decision of Educated & Unskilled workers, given by (5), we must have

0(1 — B)Yut + Byst = O(1 — B)Fur + BAat (A.15)
And, from the decision of skilled workers, given by (6), we must have
(L= B)vue + [1 = 0(1 = B)]yse = (1 = B)Fur + [1 — 01 — B)] Vst (A.16)

As (1—05) # S, from (A.15) and (A.16), we have 7,; = Y+ and v = 7 — a contradiction.

(i) We find necessary condition for the existence of multiple equilibria at any mg, € [1, min{a;1(J), az(d)}).
Given Definition of a1(d), as(d), Lemma 3, and part (i) of this lemma, at any mg €
[1,min{a,(0), as(d)}), if there are two equilibria (Vut, Vst) and (s, Yst), then we must have

1>5u > >0 and 1 > g4 > v > 0.
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Due to (5) and (6), we must have

O(1 — B)Fut + Bst = 0(1 — B)vur + Byst
= 5[&31& - 731&] Z 9(1 - ﬁ)[fyut - f?ut] (Al?)

(1= B)vu +[1 =01 = B)yse = (1 = B)Fur + [1 = 0(1 — B)] st
= (1 - B)h/ut - :}/ut] Z [1 - ‘9(1 - ﬁ)][:yst - f)/st]- (A18>

Hence, combining (A.17) and (A.18), we get the necessary condition for the coexistence of
<7ut7 f)/st> and <:Yut7 f?st>:

B>06[1—6(1-p) = [B>06(1-7).

(iii) Suppose not. g > v and g > mg such that 3, > Fg.

First observe, as 8 < (1 — ), at any mg there is a unique equilibrium (7, ). Second,
both mg and mg less than min{a;(d), az(d)} implies v,, < 1 and 74 < 1.

Now from the investment decision of Educated & Unskilled workers, given by (5), we have

efyut(l - B) + ﬁ%t > |:mst:| _ﬁ
e:yut(l - B) + 8%t — Lmg

And from the investment decision of Skilled workers, given by (6), we have

(1= B)yu + [1 = 0(1 = B)]7yst _ [mst] ~15
(1 - B)f?ut + [1 - 9(1 - B)]:Yst s

From these two conditions we get

07ut(1 — B) + Byse > (1= B)yu +[1 =01 = B)]va
0%u(1 = B) + BYst = (1= B)Fue + [1 — 0(1 = B) st
= Wuﬁst - ”Yut:Yst] [ﬁ - 9[1 - ‘9(1 - 5)“ >0
= B-6[1-6(1-p)]>0
= [B>60(1-0).

the second last line follows from 74 > v, and 7, > 7. A contradiction as 5 < §(1—03). O

C.6.1 Proof of Proposition 5
1. As n =0, this is trivial.

2. § > 0,4, so from Lemma 4. iii. (b), we know a1(d) < 1. So, by the definition of a;(J)
Yur = 1 Vmg > 1.

Now, from Lemma 4. iv., we know a4(d) < 1. So, due to Lemma 5. Condition I, v
must be no less than Zs(mst) Vg > 1.
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The equilibrium is unique as at any mg > 1, v, = 1. This implies equilibrium v, would
be equal to y_(m) which is unique.

3. (i) If ax(6) > ay1(9), by the definition a;(d) we have v,; = 1 V4 € [0, 1].
Now, by Lemma 4. iv., we have a4(d) < a;(d). Hence, due to Lemma 5 Condition L,
st must be no less than ls(mst) Vmg > a1(0).
The equilibrium is unique as at any mg > a1(0), 7, = 1. This implies equilibrium
st would be equal to v (ms) which is unique.

If as(0) < a1(9), by the definition as(d) we have v = 1 Ve € [0, 1].
By the definition of a5(d), (5), and Lemma 5 Condition I, we have that

Yut =0 Vmg € [a2(6),a5(0)) v =7, (mst) Vg > a5(9).

That the equilibrium is unique is now evident.

(ii) Due to Lemma 5 Condition Iy, Condition Ty, Condition ', and Condition T, must
be satisfied whenever possible.

(a) This follows from Part (iii) of Lemma C.1.
(b) This follows from Part (i) and (ii) of Lemma C.1.

4. From Lemma 4, we have a3(d),a5(d),a1(0) tend to infinity. Hence, the Educated &
Unskilled workers do not invest for any finite state variable: v,; = 0 Vv € [0, 1].

From Lemma 2. (iii) and Lemma 4. v. (a) and ii. (b), we have
1< b,(6) = a,(6) < as()

So, due to Lemma 5. Condition L', for any my € [1,as(d)], Vst < Fs(mst)-

The equilibrium is unique as v,; = 0 for any finite mg,. Hence, by Condition I, depicted
in Lemma 5., we must have vy = s(ms) Vmg € [1,a6(9)] and by definition of ag(d),
Yot = 1 Ymg > ag(9). O

C.7 Proof of Proposition 6

1. Suppose an economy with degree of child affinity not low starts with all educated adults.
Then the income of a skilled worker that is the state variable would be A3~1=9) . So, if
AB~179 > max{a;(6), az(6)}. Then all parents would invest at all ¢ and there would be no
poverty trap.

If AB~0% < max{a;(8),as(0)} or the economy starts with a positive mass of Not
Educated adults, then there will be a positive mass of Not Educated workers from ¢ = 1
onwards. We have seen that Not Educated workers never invest and education is necessary
for getting a skilled job. Hence, the mass of families which never become rich is positive.

When the degree of child affinity is low, then no unskilled worker invests, so there would
be a poverty trap in the economy.



Thus, in any economy, there exist a poverty trap almost always.

2. (d) We note that both a1(d) and as(d) are decreasing in 4, so the max{a(d), as(4)} is also
decreasing in 0. Now, the inequality at the ‘least unequal steady state’ remains constant for
all § no less than the particular degree of child affinity where max{a,(9), az(0)} = Ag~1=%
As in at such a ¢, at the ‘least unequal steady state’ all parents invest.

Such a ¢ exists VO > 0, as the benefit from investment for both types of parents increase
with 6 and 0 can be very large.

The rest of the proof is very similar to the proof of Proposition 4, so we skip it. O

D Appendix for Comparison

D.1 Proof of Observation 8

1. (A) It is obvious as by(6) and b () are the same in the benchmark case and in the case
with behavioral trap. Moreover, at any my;, pu > 0, pss = At = 1.

1. (B) From Proposition 3, we have that when § > § then p,; = 1.

Now, we argue when § € (J, ), the mass of Not Educated workers is positive and m; > b, (0)
then Put > Aut > 0.

Lemma 2 implies b, (0) > by(8). So, A = pst = 1 and Ay € (0,1). Then, from (3) and (4)

[ﬁ(bA[put(l_ﬁ) et+ﬁNet] (1=9) +1_B:| 1

o o

(1-%)°

(62 ADul(1 = B)Net + (1 = No)] + BN =09 +1 - 6]° —3]

= put(l - B)Net Z )\ut[<1 - 5)Net + (1 - Net)] > )\ut<1 - 5)Net
= Put > )\ut~

1
o

where the first inequality comes from p,; > 0, it would bind if p < 1, and we get the second
last inequality, i.e. Au[(1 — B)Net + (1 — Net)] > Aue(1 — B)Net because the mass of Not
Educated workers is positive, i.e. 1 — N, > 0 and \,; > 0.

This is now immediate that when § € (J,6), the mass of Not Educated workers is zero and
mg > b,(5) then p, = Ay > 0.

Finally, from the definition of b,(5), when § € (,9), and my < b,(0) then p,; = Ay = 0.
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2. This is immediate as at § < §, Ay = pur = 0 and Ay = pg.

D.2 Proof of Observation 9

From Proposition 2 and Proposition 4 we see that when the degree of child affinity is not
low, then the inequality at the unique steady state of the benchmark case is equal to the
inequality at the least unequal steady state of the case with behavioral trap. At any other
steady state inequality is higher. Hence, the result.

D.3 Proof of Observation 10

We have already noted in Observation 2 that § < §. Now we show

5= (1-35)7—-1 (1-35)7-1

< = 0q.
I—[AB* +1- 87 ~ 1—[6B(0(1— B) + B) 09 + 1— 68)
Comparing these 0 values we get that this statement is true if and only if
06(0(1—B)+p)" 9 411 -0 <AB*+1—5 (A.19)

We define a function L(#) and derive its properties:

L) =0(0(1—B)+B)" "9 —0+1- 570" and L(0) = L(1) =1 — 7
L'®) = (8 + ( — B)"E (B + ¢0(1 - B)) — 1
B
0

L'(0) 9 _1>0 and L'(1) = —(1-8)(1—¢) <0
w < 5—(1—¢>)

- . 701 _ )\ -(1-6) _
L'(6) =0 where 6 :(8+6(1-7)) T B+ e0(1-p)
o BH1-pB)(o+0(1-9) 301 _ 4)\—(1-9) _ g—(1—¢)
L(6) R R Al R
fra‘c;ion R

L'(0)=—(1-¢)(1=B)(B+0(1—8)"®?@2B+0¢(1—p) <0

Thus L is (a) a strictly concave function, (b) has a maxima at 6, (c) the maxmimum value
is negative. Thus, L(#) is negative values for all 6 € [0, 1]. Thus,

00(1—B)+ )" —g4+1-p70179 <
= 08(0(1-B)+8)” 1¢+1—9ﬁ<ﬁ¢+1—5<Aﬁ¢+1—ﬁ

Thus, equation (A.19) always holds and hence § < &,. O
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Supplementary Appendix

7.4 Equilibria Strategies

Given Lemma 1 (a), there can be five equilibria:
x1. Both unskilled and skilled workers invest with certainty: (A, Ast) = (1, 1).

x2. Unskilled workers invest with positive probability and skilled workers invest with cer-
tainty: (Au, Ase) = ((0,1),1).

x3. Unskilled workers do not invest and skilled workers invest with certainty: (A, Ast) =
(0,1).

x4. Unskilled workers do not invest and skilled workers invest with positive probability:
<)\ut7 )\st> = <07 (07 1))

x5. Both unskilled and skilled workers do not invest: (A, Ag) = (0, 0).

We consider all the strategies below. Recall the notation: L, : Mass of unskilled workers at
period t, L : Mass of skilled workers at period t, N,; : Mass of educated adult at period t.

x1. Both unskilled and skilled workers invest with certainty: (A, A\y) = (1,1)

All skilled and unskilled parents invest in their children’s education. So,

Net—l—l =1
Lst+1 = B(Lst + Lut) = Bv Mgi+1 = ALs_t(-:l_d)) = Aﬁ_(l_d))

Lut-‘rl =1~ Lst—i—l =1~ 67 Myt+1 = 1.

As observed in Lemma 1.(a), whenever an unskilled worker has an incentive to invest, a
skilled worker also has an inventive to invest with certainty. So, this case (A, Ast) = (1, 1)
arises when the parametric condition is such that an unskilled worker has an incentive to
invest with certainty, when all other workers invest with certainty. We, now, characterize
such parametric condition.

At any ¢, both unskilled and skilled workers invest with certainty is an equilibrium if and
only if

(1-5)7
(1-59°7-1
T 1-[ABC+1-pJ

5 [Bmgir + (1 = B)myqa]”
o

v

1 1
o o

\Y
Il

= 4 ) (A.20)

So, when the parents are very child loving, all workers invest with certainty.

Observe, this condition is time independent, hence if this condition satisfies at certain
t, then it holds at all other . This implies that the economy enters in to a steady state at
t = 2, we summarize this in the following observation.
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Observation 7.1. If and only if the degree of child affinity is high , i.e. § > 6

(i) All parents always invest with certainty.

)\’u,t = )\sf, =1 Vms,, Z 1.

Figure 7: If and only if § > 0, (Au, Aet) = (1, 1)

(i) Att =2, the economy immediately enters into a steady state.

At the steady state, all types of parents invest with certainty. Hence, the number of
skilled and unskilled workers and their respective incomes remain constant over time.

At steady state: the mass of educated individual N =1,
the mass of skilled workers L, = 3, and wage of a skilled worker m = AB~(-9)
the mass of unskilled workers L, =1 — 3, and wage of an unskilled worker m; = 1.

x2. Unskilled workers invest with positive probability: (A, As) = ((0,1),1)

Unskilled workers invest with positive probability A\,; € (0, 1) and skilled workers invest with
certainty. So,

Net+1 - )\utLut + Lst

Lst-‘rl = B(AutLut + Lst)a Mg41 = A (B(AutLut + Lst))_(l_d))
Lut+1 = (1 - B)\ut>Lut + (1 - 5)Lst7 Myt+1 = 1.

We are looking for parametric condition such that an unskilled worker is indifferent between
investing and not investing when all other unskilled workers are investing with probability
At € (0,1) and all skilled workers are investing with certainty. Whenever the degree of child
affinity is low i.e. § < & unskilled parents invest with probability strictly less than 1. They
invest with positive probability only when my, is higher than b,(d). From Lemma 2 we know
b,(9) is infinite when the degree of child affinity is low, i.e. § < d. This gives us the part (a)
of the following observation.

Now, coming to the dynamics, we show that A\, is such that the economy enters into
a steady state at t + 1. For that consider, again, the incentive constraint of an unskilled
worker when when all other unskilled workers are investing with probability A, and all
skilled workers are investing with certainty

(Mt = 3)7 | s[BMmsrn + (A = B)muen]” _ miy | M

o o o o
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At the steady state, Ly = Lg which implies

1 {1+6—;1—5V}5_(1_64]_ _

BA

T‘P—‘
o
)
7N
|
S
—~
(=)
SN—

B(Aut + (]- - )\ut)Lst) - Lst-‘rl -

(b,(0)/A) 7F — Ly,

= )\ut — 1 L
- List

Observe, b,(d) is time independent, hence Lgq is time independent. So, if an economy is
(2.(9)/4) T~ L
1— L 1
t+ 1. At the steady state, mass of skilled worker L} = 3 (b,(0)/A) 7, wage of a skilled
(b(0)/ ) ~ L
1— L '
To check that indeed this is a steady state, we need A, € (0,1). Now, A} < 1 because
the degree of child affinity is not high, i.e. § <. And, A% > 0 because m’ = 5~4=%p_(5) >
b,(6). Hence, the part (b) of the following observation.

such that \,; = L and Ast = 1, then the economy is at a steady state at

worker m* = 179}, (§) and X} =

Observation 7.2. If and only if the degree of child affinity is moderate i.c. 6 € [9,6) and
mg € (b,(5),00), then

(a) unskilled workers invest with probability Ay, where Ay € (0,1), and all skilled workers
wnvest with certainty is the unique equilibrium.

Aut € (0,1) and Ay = 1 if mg € (b,(0), 00)

1o —
&1 —

A

Moderate

Figure 8: At period t, (A, Ast) = ((0,1), 1) is an equilibrium

(b) The economy enters into a steady state at t + 1. At steady state,

1
1-¢
’

o the mass of skilled worker is L; = 3 (b,(5)/A)
o the wage of a skilled worker m* = 5~1=9)p, (4)

(ba0)/A) T - Ly

o and an unskilled worker invests with probability \; = I
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x3. Unskilled workers do not invest and skilled workers invest with certainty:
<)\uta )\st> = <0a ]->

All skilled parents invest with probability 1 and no unskilled parents invest. So,

N6t+1 = Lst
LSt-‘rl = BLsta Mgty1 = ALS_t(_:l_d)) = 5_(1_¢)mst
Lut+1 =1—- Lst—i—la Myt41 = 1.

It follows from the definition of b, that the income at which skilled workers invest with
unit probability is m,; > b,. Similarly, income range for which unskilled parents do not invest
with certainty is mg < b,. Now, b, () is infinite when 0 < d. This gives us the part (a) of the
observation. Now, at this parametric condition, all skilled workers invest with probability 1
and no unskilled workers invest, so in the next period, the mass of educated individual would
be equal to the mass of skilled workers at this period. Among those educated individuals
part will become skilled workers. Hence, the part (b) of the following observation.

Observation 7.3. (i) At any period t, all skilled workers invest with certainty and no
unskilled workers invest if

(a) either the degree of child affinity is moderate, i.e. 6 € [§,0) and my € |bs,b,)
(b) or the degree of child affinity is low, i.e. § € (0,68) and mgy € [bs, 00).

At =0and Ay =1 if my € [b,(6),00) | Ay =0and Ay =1 if my € [b5(0),b,(6))

!
5

[ —

v~ v

Low Moderate

Figure 9: At period t, (A, Ast) = (0, 1) is an equilibrium

(ii) If either of the above two conditions is satisfied, then the number of skilled workers fall
at the rate 3 while skilled income rises at the rate 3~1~%),

x4. Unskilled workers do not invest and skilled invest with positive probability:
<)\uta )\st> = <0a (07 1))

Unskilled workers do not invest and skilled workers invest with probability Ay € (0,1). So,

Net—l—l = )\stht
Lst—l—l = B)\sthh Mgi+1 = A (5)\stht)_(1_¢) = (B)\st)_(l_d)) Mgt
Lut-‘rl =1- 5)\stht> Myt+1 = 1.
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We are looking for parametric condition such that a skilled worker is indifferent between
investing and not investing when all other skilled workers are investing with probability A,
and no unskilled workers are investing. Hence, mg must be higher than b,(6) but lower than
bs(6). Now, in Lemma 2, we have seen that b (0) > 1 if and only if § < § and in Lemma
1, we have seen that mg > 1. This gives us the part (a) of the observation. Now, at this
parametric condition, skilled workers invest with probability Ay and no unskilled workers
invest, so in the next period, the mass of educated individual would be less than the mass of
skilled workers at this period. Among those educated individuals S part will become skilled
workers. Hence, the part (b) of the following observation.

Observation 7.4. (i) At any period t, no unskilled workers invest and skilled workers
invest with probability Ag; such that Ay € (0,1) and if

(a) either the degree of child affinity is moderate, i.e. § € [8,0) and my € [1,b4(5))
(b) or the degree of child affinity is low, i.e. § € (0,0) and mgy € (b,(5),bs(d)).

Aut = 0 and Ay € (0,1) if my € [1,bs(8)JAue = 0 and Ay, € (0,1) if my € (by(6, b5(0)

0

S =

I
)
~ RN _
g i

Low Moderate

Figure 10: At period t, (Au, Ast) = (0, (0,1)) is an equilibrium

(ii) If either of the above two conditions is satisfied, then the number of skilled workers fall
and the income of skilled workers rises over time.

x5. Both unskilled workers and skilled workers do not invest: (A, Ay) = (0,0)

No worker invests, so

Net+1 =0
Lgi1 =0, Mgtr1 — OO
Lut+1 = 17 Myt+1 = 1.

It follows from the definition of b,(d) that mg must be lower than b,(0). Now, in Lemma 2,
we have seen that b () > 1 if and only if 6 < §. Together with Lemma 1, we find that neither
skilled nor unskilled parents invest in their children education for 6 < ¢ and 1 < mg < b, —
explains part (a) of the following observation. Now, we have observed that a skilled worker
does not have any incentive to invest when no other worker is investing. In the next period,
thus, all workers would be unskilled and income of an unskilled worker is lower than that of
a skilled worker, so from the next period onwards also, no parent would ever invest in her
child’s education. Hence, the part (b) of the following observation.
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Observation 7.5. If and only if degree of child affinity is low 6 < & and mg € [1,b,(9))

(i) No workers invest.

At = At = 0 if my € [1,b,(6))

| —
Sl

v~

Low

Figure 11: At period t, (A, Ast) = (0,0) is an equilibrium

(i) The economy immediately jumps to steady state with no skilled or educated worker.
Further as mg1 — 00.

’I/ut S ’?u, (mst)

to(1-p5)>p A
I I I
| | | st
as(0) az(d) a1(0)
Yut > 7, (Mst)
Vut Z lu(mst)
fo1-p)<p N
I I I
| | | st
az(d) as(9) a1(0)

’I/ut S i/u (mst)

Figure 12: Condition I', and T,
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